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The table below embodies data on the o1l import (in million tonnes) from six different
countries over the wvears 2015 to 2019. In accordance with the table., answer the
guestions 1-5.

Year—wise O1l Import from Countries (in million tonnes)
Country
Yeas —® | Saudi Arabia | Iran | Iraqg | Nigeria | Kuwait | Venezuela
v
2015 28.8 205 | 1.8 11.6 13.9 T2
2016 29.9 21.8 | 144 10.5 14.8 1.6
2017 2.2 21.2 | 15.0 13.2 11.8 7.3
2018 27.4 18.6 | 17.2 15.9 11.5 10.3
2019 a2.6 17.5 | 24.6 14.2 17.8 9.6

Sub questions

Question Number : 1 Question Id : 536228156 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio of average of o1l imports from Iraq to that from Venezuela for all the years
together?

(1) 14 :29 (2) 29:14
(3) 39:23 (4) 23:39
Options :

536228601. 1
536228602. 2
536228603. 3
536228604. 4

Question Number : 2 Question Id : 536228157 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In which of the following vears the percentage Increase/decrease 1n oil import from Nigeria

over its previous vear 1s the maximum?

(1) 2016 (2y 2018
(3) 2017 (4y 2019
Options :

536228605. 1
536228606. 2
536228607. 3
536228608. 4

Question Number : 3 Question Id : 536228158 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the approximate percentage of oil import from Iran in the year 2017 with respect to

the total o1l import from Iran in all the vears together?

(1) 20% (2) 23%
(3) 21% {4y 25%
Options :

536228609. 1
536228610. 2
536228611. 3
536228612. 4

Question Number : 4 Question Id : 536228159 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the approximate average of percentage increase or decrease in cil import from

Kuwait over its previous vear for the given period?

(1) 4% 2) 5%
(3) 15% 4 21%
Options :

536228613. 1
536228614. 2
536228615.3
536228616. 4

Question Number : 5 Question Id : 536228160 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If P and @ are the average oil import from all the countries in the year 2019 and 2017
respectively, then P-Q 1s approximately equal to :

(1) 3.43 million tonnes (2) 3.34 million tonnes
(3) 2.43 million tonnes (4) 2.34 million tonnes
Options :

536228617. 1
536228618. 2
536228619. 3
536228620. 4

Question Id : 536228155 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (1 to 5)
Question Label : Comprehension



= 4 e afer # a4 2015 § 2019 9% T S-A 29 § 99 AW % Arhs (fHetE o °)

T F | AT F STER, WA E. 19 5% 3G

29 G F-AN g A (e 7 1)

2015 28.8 205|158 116 (138 7.2
2016 29.9 218|144 | 105 |148| 76
2017 27.2 21.2 1150 13.2 (118 | 7.3
2018 27.4 185|172 159 |11.5| 10.3
2019 32.6 175|246 | 142 |17.8| 9.6

Sub questions

Question Number : 1 Question Id : 536228156 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fol oo oot a9 & fon 0% ° 9 A & ST SN S9eaen § 9o S99 F ST S
FAT 27

(1) 14:29 (2) 29:14

(3) 39:23 (4 23:39

Options :

536228601. 1
536228602. 2
536228603. 3
536228604. 4

Question Number : 2 Question Id : 536228157 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frofafaa @ @ fFm =ad + 2@ foea a0 f 9o 9 arsfen & 99 sEE 9 ufawm afg/=H

(1) 2016 (2y 2018
(3) 2017 (4y 2019
Options :

536228605. 1
536228606. 2
536228607. 3
536228608. 4



Question Number : 3 Question Id : 536228158 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=9 2017 # 0H W 961 A FeA (AR BT T91 H S0 H el o9 S W ST e T 27

(1) 20% (2) 23%
(3) 21% (4) 25%
Options :

536228609. 1
536228610. 2
536228611. 3
536228612. 4

Question Number : 4 Question Id : 536228159 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

H e AT A FAA ° 99 A ° 99 99 F gEEe T6eE Gig 31 FH H S S At

(1) 4% (2) 5%
(3) 15% (4 21%
Options :

536228613. 1
536228614. 2
536228615.3
536228616. 4

Question Number : 5 Question Id : 536228160 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Al P # Q sa=r: a9 2019 317 2017 4 =i 2911 § 91 A9 % 31549 7, a1 P-Q ey s sue 2 7

(1) 3.43 M= = (2) 3.34 =R A
(3) 243 = (4) 2.34 fofema ==
Options :

536228617. 1
536228618. 2
536228619.3
536228620. 4

Sub-Section Number : 2
Sub-Section Id : 5362288
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 536228161 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Which of the following will be considered ‘correct’ when T-L model 1s adhered to?

(1) Teaching and learning are independent acts
(2) Teaching and learning are 1n integral relationship
(3) Teaching can be so called even if there 1s no learning

(4) There can be learning with no act of teaching taking place

Options :

536228621. 1
536228622. 2
536228623. 3
536228624. 4

Question Number : 6 Question Id : 536228161 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
o F-ue "ise H9AE A R, A7 et 3 9 e ww awen s

(1)  Toream 3 s3fepm = F F |
(2)  Tosm ¥R wheE § wiEE 5ed w5 |
(3) =T wITrm A BA W o Tew Fm oo 2

(4)  Toeaw =9 = o |7 S B HE R |

Options :

536228621. 1
536228622. 2
536228623.3
536228624. 4

Question Number : 7 Question Id : 536228162 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Facts and information get focused in which level of teaching?
(1) Memory level

(2) Autonomous development level

(3) Understanding level

(4) Reflective level

Options :

536228625. 1

536228626. 2

536228627.3
536228628. 4

Question Number : 7 Question Id : 536228162 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fFrefeafiad 5 & e =0 % e 5 a0 311 ga W oo == fen Fm 2y
(1) @ =

(2) e fTwm

(3)  wEEE Ew

(4) Tl
Options :
536228625. 1
536228626. 2
536228627.3
536228628. 4

Question Number : 8 Question Id : 536228163 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A teacher intends to use transformational approach in teaching 1n order to ensure effective
way of influencing student’s learming. Which of the following activities will be deemed
appropriate in this context?

(A) Providing a sense of respect and trust for students.

(B) Promoting contingent rewards for efforts of students.

(C) Intervening in student’s task only if standards are not met.

(D) Communicating high level expectation.

(E) Promoting careful problem solving and individual consideration.

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (C) only (2) (B). (C) and (D) only
(3) (C). (D) and (E) only (4) (A). (D) and (E) only
Options :

536228629. 1
536228630. 2
536228631.3
536228632. 4

Question Number : 8 Question Id : 536228163 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

o T faafaar & wafom = wwifaa w6 w0 StEd ale giHtveg e % o e 0 s

T 1 ITAN FAA] FEAT 2 | 9 Hey o HEiaiad 0§ wiE o e siad 9e o ?

(A)  Trnfd = fom o @i fvam fi g9 @)

(B)  Toidai =+ w=mt % 0 R 6 weE 4|

(C} ’a- =l i-“!i'-‘-'ﬂ ;‘E ":f' 1 ’:E -E[ ':-tafol-f-""l T‘T'EI’:T "'!4"4.'1'-%1'4 ol j"ﬁ 'IFT-TEIHI CILED q-T _'{ ﬁ |

(D)  F=a &= TR T HE |

(E)  drEamEs aue GaTae S 5 g5 1 seE & |

e To3 = e 8 ® wE S g

(1)  Fa= (A). (B) @11 (C) (2) Fa= (B), (C) H7 (D)

(3)  Fa= (0), (D) 31 (E) @) = (A). (D) 3R (E)

Options :

536228629. 1
536228630. 2
536228631.3
536228632. 4

Question Number : 9 Question Id : 536228164 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: TUse of support materials during teaching can replace teaching act if used

carefully.

Statement II : Online methods are effective supplements for improving quality of teaching

and learning.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true

(2} Both Statement I and Statement II are false

(3) Statement I is correct but Statement IT is false
(4) Statement I is incorrect but Statement IT 1= true
Options :

536228633. 1
536228634. 2
536228635.3
536228636. 4

Question Number : 9 Question Id : 536228164 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228633. 1
536228634. 2
536228635.3
536228636. 4

Question Number : 10 Question Id : 536228165 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I: Measurement 1s a set of rules for assigning numbers to represent objects.

traits. attributes and behaviours.

Statement IT: A test 1z a procedure in which a sample of an individual’s behaviour is

obtained. evaluated and scored using standardized procedures.

In the light of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)

(4)

Both Statement I and Statement II are true

Both Statement I and Statement II are false

Statement I is correct but Statement IT 1= false

Statement I is incorrect but Statement IT 1= true

Options :

536228637. 1
536228638. 2
536228639.3
536228640. 4

Question Number : 10 Question Id : 536228165 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228637. 1
536228638. 2
536228639. 3
536228640. 4

Question Number : 11 Question Id : 536228166 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

A teacher consistently makes an effort to improve the quality of learning through use of
various interventions. The approach adopted by him/her can be in the ambit of which type of
research?

(1) Fundamental research (2) Applied research
(3) Action research (4) Ewaluative research
Options :

536228641. 1
536228642. 2
536228643.3
536228644. 4

Question Number : 11 Question Id : 536228166 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  Htfers oy (2) =F=Ed Ty
(3)  TerETEs e (4) TETEATEF A
Options :

536228641. 1
536228642. 2
536228643.3
536228644. 4

Question Number : 12 Question Id : 536228167 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Through which of the following methods of research ‘cause and effect relationship’ 1s focused?

(1) Historical method (2) Experimental method
(3) Ex Post facto method (4) Case study method
Options :

536228645. 1
536228646. 2
536228647.3
536228648. 4

Question Number : 12 Question Id : 536228167 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
f=rfafiaa @ @ fom oy fafea g “wor sii wame 999’ W e se Sl e w2 e

(1)  faerees f&fa (2) wEFTEEE fafu
(3)  FHEww fafg (4) =tz (Fm) sread fafa
Options :

536228645. 1
536228646. 2
536228647.3
536228648. 4

Question Number : 13 Question Id : 536228168 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The scope for ‘creativity’ and ‘Imagination’ 1s largest in which of the following steps of
research?

(1) Defining and deciding the procedures for sampling

(2) Identifying and defining the research problem

(3) Data analysis using quantitative methods and interpretation
(4) Hypothesis making and hypothesis testing

Options :

536228649. 1

536228650. 2

536228651.3
536228652. 4

Question Number : 13 Question Id : 536228168 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
919 % FEATREd TET 5 9 fFEY geeiie AR wen i aiiy ged 951 2l 27

(1) wfeel gfg=mm 61 agfa =1 ofvaimm e it 39 i s
(2) g FEE F TR FE S 3 IR e |

(4)  ufrwegar fmi st ofeEr o |
Options :
536228649. 1
536228650. 2
536228651. 3
536228652. 4

Question Number : 14 Question Id : 536228169 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Use of ICT in research facilitates access and accuracy of research findings.

Reaszon (R) : A researcher has to follow various styles of referencing and format while

writing a thesis with an intent for deriving support from ICT.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A} 1= correct but (R) 1s not correct

(4) (A) 1= not correct but (R) 1s correct

Options :

536228653. 1
536228654. 2
536228655.3
536228656. 4

Question Number : 14 Question Id : 536228169 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228653. 1
536228654. 2
536228655.3
536228656. 4

Question Number : 15 Question Id : 536228170 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In order to ensure authenticity. a researcher has to indicate original sources

from which data are culled.

Statement IT: In data analysis and interpretation the researcher has to evince necessary

rigour and appropriateness of procedures.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement I are incorrect

(3) Statement I 1= correct but Statement II is incorrect

(4) Statement I is incorreet but Statement II 1s correct
Options :

536228657. 1
536228658. 2
536228659. 3
536228660. 4

Question Number : 15 Question Id : 536228170 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228657. 1
536228658. 2
536228659. 3
536228660. 4

Question Number : 16 Question Id : 536228171 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Tist 1T

ListI Last IT
(Examples of communication barrier) (Types of communication barrier)
(A} TUnclear printing in a newspaper (I)  Psychological noise

(B) Dafferent understanding of the (II}) Cultural stereotyping

message

(C) Passive audience reception of the (III) Physical noise
message
(D) Prejudice against certain ethnic (IV) Semantic noise

Zroups

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(II), (C)-(I), (D)-(II)
(2) (A)-(IT), (B)-(D), (C)-AV). (D)-(I1L)
(3) (A)-(I1I), (B)-(IV), (C)-(D). (D)-(IT)

(4) (A)-(I). (B)-(II). (C)-(III). (D)-(IV)
Options :
536228661. 1
536228662. 2
536228663. 3
536228664. 4

Question Number : 16 Question Id : 536228171 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(IV), (B)-(I1D), (C)-(D). (D)-(II)
(2) (A)-(ID. (B)-(D). (C)-IV). (D)-I1I)
(3) (A)-(III). (B)-(IV), (C)-(D). (D)-(1I)
4 (A)-(I). (B)-(1D). (C)-(I1L), (D)-(IV)

Options :

536228661. 1
536228662. 2
536228663. 3
536228664. 4
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Question Number : 17 Question Id : 536228172 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of mass media functions:

(A) Entertainment

(B) Information

(C) Transmission of culture

(D) Social integration

(E) Education

Choose the correct answer from the options given below :

(1) (A). (C). (D). (E). (B) (2) (B). (C), (E). D). (A4)
(3)  (B). (E). (A). (C). (D) 4) (C). (D). (E). (A). (B)
Options :

536228665. 1
536228666. 2
536228667. 3
536228668. 4

Question Number : 17 Question Id : 536228172 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) T
(B) F=
(C) T&Fa =1 Ty
(D) TS T

(E) TaTET

W T2 7 Tt | © wE 3 9
(1) (A). (C). (D). (E). (B) (2) (B). (C). (E). (D). (A)

(3) (B). (E). (A), (C). (D) 4) (C), (D). (E). (A). (B)

Options :

536228665. 1
536228666. 2
536228667. 3
536228668. 4

Question Number : 18 Question Id : 536228173 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): A soclety garners commonality through its language. customs, history and
geography.

Reasons (R) : A soclety’s umty through commonality 1s facilitated by 1ts communication

system and culture.

In the hight of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)

(4)

Options :

Both (A) and (R) are true and (R) 1= the correct explanation of (A)
Both (A) and (R) are true but (R) 13 NOT the correct explanation of (4)
(A) 18 true but (R) 1= false

(A) 1= false but (R) 1s true

536228669. 1
536228670. 2
536228671.3
536228672. 4

Question Number : 18 Question Id : 536228173 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
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Options :

536228669. 1
536228670. 2
536228671.3
536228672. 4

Question Number : 19 Question Id : 536228174 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are true in respect of communication?

Itiza

(A) filtering process
(B) barrierless process
(C) life-long process
(D)  umiversal process

(E) collective process

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B). (C), (D) only
(3)  (C). (D). (E) only (4) (D). (E). (&) only
Options :

536228673. 1
536228674. 2
536228675.3



536228676. 4

Question Number : 19 Question Id : 536228174 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T % Heg § et A e S e A
(A) T R
(B) A=Y Tad A E |
(C)  fie woi= ufs 2|
(D)  TEHTEF T A

~

(E) o=+

L ey

(1) = (A). (B) 31 (C) (2) === (B), (C) #R (D)
(8) == (C). (D) 1 (E) (4) === (D). (E) 57 (A)
Options :

536228673. 1
536228674. 2
536228675.3
536228676. 4

Question Number : 20 Question Id : 536228175 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Online platforms make teaching and learning a sub-type of :

(1) Technology-induced diversion (2) Complex learming culture
(3) Commercial collaboration (4) Alternative education
Options :

536228677. 1
536228678. 2
536228679. 3
536228680. 4

Question Number : 20 Question Id : 536228175 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ATATEA TiewE e vd Aty = feetag 9 o B su-uEE w1

(1)  AFAH-3oRd fa9ed (2) e wfam Tephd
(8)  =Mifsa =T (4) waE e
Options :

536228677. 1
536228678. 2
536228679. 3
536228680. 4

Question Number : 21 Question Id : 536228176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In an examination 1t 1s required to get 36% of maximum marks to pass. A student got
90 marks and was declared fail by 9 marks. Calculate maximum marks.

(1) 200 (2) 275
(3) 300 4 225
Options :

536228681. 1
536228682. 2
536228683.3
536228684. 4

Question Number : 21 Question Id : 536228176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U a5 39 B % T sAfawan 36 Tfe 379 TTH AT SEvEE ¢ | UF 99 5 90 3% W T AR
TH 9 AH F AW T ATHA Giaa A | sAfasan s o o i |

(1) 200 (2)y 275
(3) 300 (4 225
Options :

536228681. 1
536228682. 2
536228683.3
536228684. 4

Question Number : 22 Question Id : 536228177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The simple interest on a certain sum of money for 2 years at the rate of 6% per annum comes

to ¥ 300. The compound interest at the same rate, for the same time and on the same sum of
money would be :

(1) T 3510 (2) % 308
(3) T 507 49 T 309



Options :

536228685. 1
536228686. 2
536228687.3
536228688. 4

Question Number : 22 Question Id : 536228177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fordt o= Tfsr %1 2 (271) 94 F Aty % 9w 6 wihwd uid 99 f 2 F @rgnw s 300 2| 36 sty
F To0 351 2 W a1 T oE T o =g S w5

(1) ¥ 310 (2) % 308
(3) T 307 (4 T 309
Options :

536228685. 1
536228686. 2
536228687. 3
536228688. 4

Question Number : 23 Question Id : 536228178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The next two terms of the progression as 60, 30, 20, 15 are :

(D) 10 and 5 (2) 4and?
(3) 10 and 8 (4) 12 and 10
Options :

536228689. 1
536228690. 2
536228691.3
536228692. 4

Question Number : 23 Question Id : 536228178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
60. 30, 20, 15 = 3715 F AT 31 92 77 7

(1) 1035 (2) 43w 2
(3 10#Hm8 (4) 12 %10
Options :

536228689. 1
536228690. 2
536228691.3
536228692. 4



Question Number : 24 Question Id : 536228179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Two cities P and @ are 360 km apart from each other. A car goes from P to @ with a speed of
40 km per hour and returns back to P with a speed of 50 km per hour. What 1s the average
speed of the car?

(1) 45 km per hour (2) 48 km per hour
(3) 50 km per hour {(4) 55 Em per hour
Options :

536228693. 1
536228694. 2
536228695. 3
536228696. 4

Question Number : 24 Question Id : 536228179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
2 A P SR Q® 360 FRAN, 1 3 2| wE ww 40 TR wfawz i e # PE Q@ WAl 2 AR P
50 TR 71, wia =2 i 7fd 9 G199 @ A6 2 | e 0w e T

(1) 455, 94 721 (2) 48 FRH1. Ol T
(3) 50 .91, wid Tz (4) 55 T.H1. W =
Options :

536228693. 1
536228694. 2
536228695. 3
536228696. 4

Question Number : 25 Question Id : 536228180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
If 5472 — 9, 6342 — 6, 7584 —» 6and 9237 — P. then P1s : (— means implies)

(1) 2 (2 3
3 4 4) 5
Options :

536228697. 1
536228698. 2
536228699. 3
536228700. 4

Question Number : 25 Question Id : 536228180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



7f3 5472 —» 9, 6342 > 6, 7584 —» 63T 9237 —» P 21 P2 : (— &1 {9 IuAtead &1 72)

(1) 2 (2 3
3) 4 (4) b5
Options :

536228697. 1
536228698. 2
536228699. 3
536228700. 4

Question Number : 26 Question Id : 536228181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

List I mentions the four valid means of knowledge as given by gotama while List IT gives
their description. Match List I with List I :

ListI List II
(Valid means of knowledge) (Description)

(A) Perception () Cognition which presupposes some
other cognition

(B) Inference (I) Knowledge of the relation between a
word and 1ts denotation.

(C) Comparison (ITI) Statement of a trustworthy person and
consists in understanding its meaning.

(D) Verbal testimony (IV) Non-erroneous cognition produced by
the interaction of sense organs with
the objects

Choose the correct answer from the options given below :

(1) (A)-(D). (B)-(IV). (C)-(II). (D)-(II)
(2) (A)-(IV), (B)-(I). (C)-(ID), (D)-(IIL)
(3) (A)-(I1I), (B)-(II). (C)-(T). (D)-(IV)
(4 (A)-(IT). (B)-(III), (C)-@V). (D)AI)

Options :

536228701. 1
536228702. 2
536228703.3
536228704. 4

Question Number : 26 Question Id : 536228181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AL I 3 gafem Fifae g1 7 g e 70 99 F 9w arem # avE w1 s e gal-l

1 =111
(3 = T1em) (o)
(A) dra (TeEE) @) =S A R 3 EEE R A R
B) FHFAH (II) T2 U3 30 Thal = == He-g F 7 |
(C) T (IIT) Towamme =0T & F99 G491 396 A=

1 FEFA ° T |

D === (IV) Ellﬁﬁ Els ) T3 AF99] F TOE HEER
3 39 TG HAM |
Hr= T5 T el 8 W wEl I g
(1) (A)-(D). (B)-(IV), (C)-(III). (D)-(1I)
(2) (A)-(IV), (B)-(I). (C)-(II), (D)-(III)
(3) (A)-(I1II), (B)-(II). (C)-(I), (D)-(IV)
(4) (A)-(ID). (B)-(I1I). (C)-(IV). (D)-(D
Options :
536228701. 1
536228702. 2
536228703.3
536228704. 4

Question Number : 27 Question Id : 536228182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The inherent cause (Samavayi) of Indian Philosophy corresponds to which of the causes
given by Amstotle?

(1) Material Cause {2) Formal Cause
(3) Efficient Cause (4} Final Cause
Options :

536228705. 1
536228706. 2
536228707. 3
536228708. 4

Question Number : 27 Question Id : 536228182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT 29 1 SAdi-Tad HH0 (FHETET) 0 gRT 9670 T FH I FEO % F9T A 7

(1)  ifas e (2) ST FREO

(3)  =EH HEWM (4) =TI HEO



Options :

536228705. 1
536228706. 2
536228707. 3
536228708. 4

Question Number : 28 Question Id : 536228183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Consider the following syllogism ;

(&) This hill has fire
(B) Because 1t has emoke
(C) Whatever has smoke. has fire

(D) This hill has smoke which is invariably associated with fire

(E) Therefore. this has fire

Which will be designated as “‘Upnaya’ in this syllogism?

(1) (A) and (B) only (2) (B)and (C) only
(3) (D) only (4) (E)only
Options :

536228709. 1
536228710. 2
536228711.3
536228712. 4

Question Number : 28 Question Id : 536228183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Frefafiaa = w faww fif

(A) TEEIE AR
(B)  TEIF ZHH 99 7
D) 3H TS A g & A R T A S H weid

(E) =5 389 317 2|

=0 9% FEaEE 0 39 T R R Y
3/

(I) === (A) 37 (B) (2) == (B) #E (O)
(3) @A (D) (4) =3 (E)
Options :

536228709. 1
536228710. 2
536228711. 3
536228712. 4

Question Number : 29 Question Id : 536228184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In Indian logic, the presence of the middle term in the minor term 1s called.

(1) Vvapt1 (2) Paksha-dharmita
(3) Linga (4) Paramarsha
Options :

536228713. 1
536228714. 2
536228715.3
536228716. 4

Question Number : 29 Question Id : 536228184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
W T B oY g H e U5 1 SfEYdl i Har A A

(1)  =ariea (2)  TE—HTHa
(3 T (4) T
Options :

536228713. 1
536228714. 2
536228715.3
536228716. 4



Question Number : 30 Question Id : 536228185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Alive Devadatta is either in his house or elsewhere, Alive Devadatta 1= not in his house.
Therefore alive Devadatta 1s elsewhere.

The above 1s an example of which kind of pramana?
(1) Perception and inference (Pratyaksha and Anuman)
(2) Comparison (Upmana)
(3 Verbal testimony (Shabda)
(4) Implication (Arthapatti)
Options :
536228717. 1
536228718. 2

536228719.3
536228720. 4

Question Number : 30 Question Id : 536228185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sfifera Sa2s =1 A 99 WA # AYA] Hiiad g AW uOH TE 7
(1) =9 73 399F (T 79 S

(2) = (IT)

(3) I3 A

e

(4) UM

Options :

536228717. 1
536228718. 2
536228719.3
536228720. 4

Question Number : 31 Question Id : 536228186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

To differentiate a primary storage from a secondary storage in a computer system, which of
the following statements 1s correct?

(1) Primary storage 1s slower. more expensive and persistent.
(2) Primary storage is faster. more expensive and persistent.
(3) Primary storage 1s faster, less expensive and not persistent.

(4) Primary storage 1s faster, more expensive and not persistent.



Options :

536228721. 1
536228722.2
536228723.3
536228724. 4

Question Number : 31 Question Id : 536228186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FOPE foEen | Wi W A G S 4 98 w6 o a5 e a5 e wE R
(1) s w=rs i, s1fas m=tar i sHa =6 2 |
(2)  WYHE =R o4, Al e @E S w6 E
(3)  TUHF THF 99 U FH GHIA 71 & 3T ST TE B 2
Options :
536228721. 1
536228722.2

536228723.3
536228724. 4

Question Number : 32 Question Id : 536228187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: ‘SWAYAM' an mmtiative of Government of India, aims at promoting the
self —help groups in rural areas.

Statement II : ‘e-Tantra’ 1s an Initiative to spread education in Embedded systems and
Roboties by IIT,. Mumbai through MHRD-NMECIT.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1= false
(4) Statement I 1s incorrect but Statement II is true
Options :

536228725. 1
536228726. 2
536228727.3
536228728. 4

Question Number : 32 Question Id : 536228187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= =1 o fem o B

FuA (1) : = 9rd 5eEn i ok uee 2 faee sggve adion e A | -mEmar 99 F seE o # |

wo (1) :  3-79 =078 o778 21 §Pes g0 UA U= AW ¥ - U4 UH S H A% 9 % HSAH W geiss e
Us TEifeFE H T9E % TEN % W 0w uEE

TS FYAT F EF °§ oA e § a3 A

(1) = 13w 29 9351 3 |

(2) IR I 24 a7 |

(3)  =m I@eg 2 fohg oA I177ed 2 |

4 FEITEEF FFE Iz

Options :

536228725. 1

536228726. 2

536228727.3
536228728. 4

Question Number : 33 Question Id : 536228188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I: Search engines are also known as web browsers.
Statement IT: 189.365.250.2 1= an example of a valid IP address.

In the hight of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is correct but Statement IT is false
(4) Statement I 1= incorrect but Statement IT is true
Options :

536228729. 1
536228730. 2
536228731.3
536228732. 4

Question Number : 33 Question Id : 536228188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faz T o mE .

FoF (I):  FF 3 H A9 A F B F AT FA AT E
Fo (I1):  189.365.250.2 U 94 3115 9 USH 1 I 7 |

ST HYA T AT A A= fawea] B w6 A

(1)
(2)
(3)
(4)

Options :

Fyq I 3 Il =A1 921 2 |
o 1 3 1131 7o 7 |
FoA 187 & g F99 11 7Te0 7 |
Fu I 5787 2 Thg +um L9912 |

536228729. 1
536228730. 2
536228731.3
536228732. 4

Question Number : 34 Question Id : 536228189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match Last I with List IT :

Tast T

(Computer Components)

(A) RAM
(B) DVD-ROM

(C) ALU
(by CPU

@D
(II)

(III)
(IV)

List IT
(Description)
Brain of the Computer

Performs all computations and

comparison operations
Can be written only once

Holds programmes currently being run

on the computer

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options :

(A)-(II). (B)-(IV), (C)-(D). (D)-(III)
(A)-(D). (B)-(IV). (C)-(D). (D)-(11I)
(A)-IV). (B)-(IID. (C)-(ID. (D)-(D)
(A)-(III). (B)-(IV). (C)-D). (D)-(D)

536228733. 1
536228734. 2
536228735.3
536228736. 4



Question Number : 34 Question Id : 536228189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-1 11

(FETgZE FTEIE) (=)
(A) i (#AR T Ug) (I) g2 #1 gieF
B) =i E - T (W = A D) TFT 3 g HEe T S e E |
€) T3y (IID) === T = o = A E
D) #Hidry (IV) F=z7 T F0999 § == " WHH T T

@ = |

= o ™ e 6 W = I A

(1) (A)-AD. (B)-OV), (C)-(D), (D)-(I1T)
2 (A)-D), B)-(IV). (C)-aD). (D)-(I1IT)
(3 (A-IV). (B)-IID). (C)-D. (D)D)
4 (A, (B)-(IV). (O)-D, (D)-T)

Options :

536228733. 1
536228734. 2
536228735.3
536228736. 4

Question Number : 35 Question Id : 536228190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consider the following incomplete sentences :

3G 1= a range wireless technology. Some activities that require
bandwidth cannot be carried out by using 3G.

Bluetooth 1s a range wireless technology which 1s used to connect devices
together for data transfer. Bluetooth 1s a cost means of data transfer.

Complete the above sentences by choosing the correct words in order from the following list :

(A) Long
(B) Low

(C) Short
(D) High

Choose the correct answer from the options given below :

(1) Q). D). (C). (B) (2) (0. (D). A). (B)
(3 (O (B). (A). (D) @ (&) (B). (C). (D)
Options :

536228737. 1
536228738. 2
536228739.3
536228740. 4

Question Number : 35 Question Id : 536228190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FfeAfiad a1 a9 W fo=n =1

e sfigmF a2 1.
A TF 15 1 waw SR B T 3T 2 2 % e feanat R we 5 9 E

Hr= & 7 g @ P ° wE v g Sudaa I O

(A) =T
B) =
(C) =t
(C) ===

4= 29 ™™ fawem 5 1 mE 9 F =28T 1

(1) (A D). (C). (B) (2) (C). (D). (A). (B)
(3) (0. (B). A). D) 4 (@A), 3B). (C). (D)
Options :

536228737. 1
536228738. 2
536228739.3
536228740. 4

Question Number : 36 Question Id : 536228191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following fuels in decreasing order in terms of the amount of carbon dioxide
emitted per unit of energy output from their combustion :

(A) Natural gas

(B) Coal (lignite)

(C) Gasoline (without ethanol)
(D) Propane

Choose the correct answer from the options given below :

(1) A=@B=D)= () (2) (B)=(A)=(C) = (D)
3 B=(C)=D=@A) 4) (D)= (B)>(C)=>(A)
Options :

536228741. 1
536228742. 2
536228743.3
536228744. 4



Question Number : 36 Question Id : 536228191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fr=ferfigd o1 #0395 354 91 Ul gIE S0 Uit W IeETAd BHATH REASEIEES i OE  H42y o
FFE FH H AT

(A) TR T

B)  FEen (fowmse)

(C)  THIleA (v )

D) T

= fo T Towen § W wE I gE

1 A=®=MD=>© @ B >4 >(C)>D)

(3) (B)= (€)= D)= A 4 [D)=@B=(C)=(A)
Options :

536228741. 1
536228742. 2
536228743.3
536228744. 4

Question Number : 37 Question Id : 536228192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The aims and objectives of which of the following have co-benefits with Sustainable
Development Goals?

(A) International Solar Alliance

(B) Montreal Protocol

(C) Paris Agreement

(D) Convention on Biodiversity

(E) National Action Plan on Climate Change

Choose the most appropriate answer from the options given below :

(1) (A (B). (C). (E) only (2) (A, (C). (D). (E) only
(3) (A). (C). (E) only (4) (B). (C), (D). (E) only
Options :

536228745. 1
536228746. 2
536228747.3
536228748. 4

Question Number : 37 Question Id : 536228192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



f=ileAliga o o A o 31 32991 & Had (9 S5 % Oy HE-oTg 2 7
(A)  TZEEES AR AAEE

B) HifzEa T

(C)  witm mwe

(D) == Tafaga gud Ataees

(E) 7@ Sefarg uftads gefi st

Hra fo o fompei § ® wE 3w 9fm

(1)  Fa= (A). (B). (C), (E) (2) Fa (A). (C). D). (E)

(3) F=F (A). (C). (E) 4 Fa4 (B). (), (D). (E)
Options :

536228745. 1
536228746. 2
536228747.3
536228748. 4

Question Number : 38 Question Id : 536228193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements :

Statement I: Diesel Vehicles emit excessive amounts of oxides of nitrogen and fine
particulate matter.

Statement I1: The diesel engines run with rich mixtures having high air to fuel ratio.

In the light of the above statements, choose the most appropriate answer from the options
ziven below :

(1) Both Statement I and Statement Il are correct

(2) Both Statement I and Statement I are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect
(4 Statement I 1s incorrect but Statement II is correct
Options :

536228749. 1
536228750. 2
536228751.3
536228752. 4

Question Number : 38 Question Id : 536228193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A= =7 A ST T E
Fo (I): ST AT ST AR B VEIE % AFEEEH N I H0 (WET Mieder d2) et
Y
=+ F |

Fol (D) : S5 T4 I=9 9 T9A A9 A1t T2 O O wed 2

T FUA T e § it e § & o i S I g
(1) = I3 [ =8 7 |
(2) w13 I 2A 98 79 7 |
(3 w15 & g o L od 44 2
(@) w17 T 2 g FeE R 2
Options :
536228749. 1
536228750. 2

536228751.3
536228752. 4

Question Number : 39 Question Id : 536228194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a city the noise levels represented by equivalent sound pressure level over 8 hours period
were reported as 50 dB (A). What does A’ refer to

(1) a type of amplifier used in the measurement

(2) a tyvpe of microphone used in the measurement

(3) the measurements of day time

(4) a type of welghting used in the measurement
Options :

536228753. 1
536228754. 2
536228755.3
536228756. 4

Question Number : 39 Question Id : 536228194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Thdi Tt § 8 T2l i WEtg @ SO 3Hh T T H GHEE S 2™ T % 91599 3 80 e (A)
AT T | FE (A) TREER HEian A 2 7

(1) =79 ° TgF THAT U TR % TEUE 6
(2) W H TEF FHAE U TER & AEHTA H

(3) a9 & wfa & am =

(4)  © H TIFE BT U TR % HE 6

Options :

536228753. 1
536228754. 2
536228755.3
536228756. 4

Question Number : 40 Question Id : 536228195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A): The problem of organic pollution in rivers is usually worse in hot summer
months.
Eeason (R) : Higher water temperatures exacerbate oxvgen depletion

In the hight of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

536228757. 1
536228758.2
536228759.3
536228760. 4

Question Number : 40 Question Id : 536228195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= 21 o fom T 2w ) AfaeE (A) 3 3 W a9 (R) TR T

AHFA (A) : afeat d Fite agew i guen g T 9EET § a2t 7 9w of

% (R) : TIATHT AT T A i g9 ¥ e i a8 e fi fufa dea e
EiCiEd

IUF FUA F AT J (e el 8 H waEiae I0gad 39 91

D @ R ®) A E S (R). () FwE =
@ (&) R ®) I T E W (R), (A) F FH == o
@ (AT g R) T R
@ (A= 2w @) FE R
Options :
536228757. 1
536228758. 2

536228759.3
536228760. 4

Question Number : 41 Question Id : 536228196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following has been the main aim of education during Ancient India?

(1) Emanicipation or liberation (2) Material development
(3) Fulfillment of vocational needs (4) Inculeation of social values
Options :

536228761. 1
536228762. 2
536228763.3
536228764. 4

Question Number : 41 Question Id : 536228196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
WA 9Rd 7 fetatad § 3 e w5 ugm w5 e e

(1) qfFq 37991 2310 (2) T faE
(3) STEETEF AETIFarE F I (4) T g A S

Options :

536228761. 1
536228762.2
536228763.3



536228764. 4

Question Number : 42 Question Id : 536228197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The open university system needs to be introduced in order to expand opportunity of access
to higher education. It was emphasized by :

(1) The University Education Commission (1948-49)

(2) The Education Commission (1964-66)

(3) The National Policy on Education (1968)

(4) The National Policy on Education (19386)

Options :

536228765. 1
536228766. 2
536228767.3
536228768. 4

Question Number : 42 Question Id : 536228197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Tt T 7% UEE % A9 famarte e o gua fAvatanrers Tt w1 SAnY 6 i SaEeasda 7 |
fr=rferfaa 9 3 e 30 98 5= T2 T
(1) Tagaia=nem fmear s (1948-49)
(2)  Toram wEm (1964-66)
(3)  Torem = g il (1968)
(4)  forsn w wdig it (1986)
Options :
536228765. 1
536228766. 2

536228767.3
536228768. 4

Question Number : 43 Question Id : 536228198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following systems of Indian Philosophy are antithetical to the Vedas?
(A) Purva Miméasa

(B) Uttar Mimasa

(C) Buddhism

(D) Jainism
(E) Charvaks

Choose the correct answer from the options given below :

(1)  (A). (B). (C) only (2) (B). (C). (D) only
(3) (C). (D). (E) only (4) (D). (E). (A) only
Options :

536228769. 1
536228770. 2
536228771.3
536228772. 4

Question Number : 43 Question Id : 536228198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(A)  9a dEmE

(B) = Hmmm

(C) =@gmA

(D) 7 A

(By =

i 52 ™ foem @ = I gt

(1) === (A), (B) =1 (C) (2) A= (B). (C) #T (D)

(3)  FaT (C). (D) 37 (E) 4) == (D). (E) #T (A)
Options :

536228769. 1
536228770. 2
536228771.3
536228772. 4

Question Number : 44 Question Id : 536228199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Institutional autonomy guarantees academic freedom.
Statement II : Academic freedom 1s not possible without institutional autonomy.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement I1 is incorrect.

(1) Statement I 1z incorrect but Statement II is correct.
Options :

536228773. 1
536228774. 2
536228775.3
536228776. 4

Question Number : 44 Question Id : 536228199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e 37w B e E

FoF (1) :  TEUTTE ST, ST EaaaT i Al 2

Fu (II) : TEUTTE HETa & w51 DA = 999 T8
T FUAT AT H AT Ao B H Haiis 3999 39 T

(1) e[ I3 I ae =91 7 |
(2) A I #AR I 2 9= 4 = |
(8 w17 7 g = M= 37 2

(4) w98 92 7 g Fua a1 2

Options :

536228773. 1
536228774. 2
536228775.3
536228776. 4

Question Number : 45 Question Id : 536228200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following ‘Four Pillars of Education’ mentioned in Delors’ Commission report
reflect the Indian value of “Vasudhaiva Kutumbakam™?

(1) Learning to know (2) Learning to do
(3) Learning to be (4) Learning to live together
Options :

5362287717. 1
536228778. 2
536228779.3
536228780. 4

Question Number : 45 Question Id : 536228200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
SoE AT i O | 3 e & 9 e | ¥ Feieias S O W 9ged $omed | & 9
e e 1

(1) = = e wferm (2) = ¥ fom wferm
(3)  TH = Tom s (4) FEI F 1Y S F T st
Options :

536228777. 1
536228778. 2
536228779.3
536228780. 4

Sub-Section Number : 3
Sub-Section Id : 5362289
Question Shuffling Allowed : Yes

Question Id : 536228201 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the passage and answer questions from 46 to 50.

Once the decizion has been made to enter an overseas market, a business must consider the
extent to which 1t will adapt its offerings to local conditions. Is 1t possible to market the
product in almost the same way 1n every country which is known as a global strategy. or will
the marketing have to be adjusted for each market? If a business pursues a global strategy
this means it 13 adopting essentially the same marketing mix wherever it competes. A Pan-
global marketing strategy has been adopted by business in several markets. such as jeans
soft drinks and luxury goods. One advantage of a global approach 1s that 1t offers marketing
economies of scale. For example. the business can develop one advertising campaign and one
approach to packaging worldwide. However, this tvpe of strategy does not respond to the
requirements of different national markets and so the business may lose sales to competitors
who focus more on local needs. In markets such as food and drinks and the media. a business
may need to adapt significantly to local requirements. On the other hand. a more local
approach may meet customer needs more precisely. but may be more expensive and more
complex to manage. In reality, most companies will choose a balance between the global and
local approach. There are global brands that sell in many different markets. They have the
same name and logo everywhere. However. some advertisements are made in the way the
product 18 promotional to reflect local conditions.

Sub questions

Question Number : 46 Question Id : 536228202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What should be the global strategy in business?

(1) Sell different brands in different overseas markets
(2} Market the same product in every country the same way
(3) Decide to enter the overseas market
(4) Enow the local conditions of the local market
Options :

536228781. 1
536228782. 2
536228783.3
536228784. 4

Question Number : 47 Question Id : 536228203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What does global strategy mean?

(D) Opting for the same marketing mix in every competitive market
(2) Globalise the loeal conditions of marketing

(3) Creating product differentiation to suit different markets

(4) Making overseas marketing non-competitive

Options :
536228785. 1
536228786. 2



536228787.3
536228788. 4

Question Number : 48 Question Id : 536228204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The benefits from a non global approach 1s to opt for :

(1)
(2)
(3)

(4

Options :

grand sale of non-luxury goods
maket expansion of costly products
single advertising campaign worldwide

refreshing marketing economies of scale

536228789. 1
536228790. 2
536228791.3
536228792. 4

Question Number : 49 Question Id : 536228205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the global strategy is benefit of local conditions. the business consequence 1s

(1)
(2)
(3)
4)

Options :

more Investment in media advertising campaigns
emergence of different national markets
change in the customer needs

the dominance of competitors who focus on local conditions.

536228793. 1
536228794. 2
536228795.3
536228796. 4

Question Number : 50 Question Id : 536228206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The assessment of global brands in the passage 1s that

(1) they should have a single packaging approach
(2) thev should advertise the product reflecting global conditions
(3) the global products should have different names and logo

(4) the glocalization of business marketing is a reality

Options :

536228797. 1
536228798. 2
536228799. 3
536228800. 4

Question Id : 536228201 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 536228202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SIFETE H Hi7a I F1 BHE] =R ¢

(1)  A=-3eT faewl ST 5 e -3 "s s=1T |
(2)  WHAE 291§ GHE F0012 B HHH di § 0 T |
(3)  Toesi R | uEw e A e |
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Options :

536228781. 1
536228782.2
536228783.3
536228784. 4

Question Number : 47 Question Id : 536228203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Afvas Tt = T a9 27

(1)  wer Sfaesdl 9T9F § UF 999 G mH w0 s
(2)  Tawvm =1 = i Sy e |

(8)  fafu= s = o suge sene fae w

(4)  Tagf faeom =1 -aiqerdi a9 |

Options :

536228785. 1
536228786. 2
536228787.3
536228788. 4

Question Number : 48 Question Id : 536228204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) et aeh ame A wr e
(2) e IeamE F e T |
(3) Tava=ael v 7 A9 e

(4) =3 UaE T EE SeEEAT § a0 |

Options :

536228789. 1
536228790. 2
536228791.3
536228792. 4

Question Number : 49 Question Id : 536228205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



It Afvas ETT TUHE TEET O 99 2 9 SSTaETEe SRy 46 7Y

(1)  wife fasmm sifaami © s1fas fan

(2) A= o =TEET # 3R

(3) e =] %Al § 9gad]
(4) T fEute @ s = a9 aiaeia # aye

Options :

536228793. 1
536228794. 2
536228795.3
536228796. 4

Question Number : 50 Question Id : 536228206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e | TS §1S1 F Aed 9 £ T

(1) 391 Tet SR 29 =
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(3)  Afva® 3e9E] F SASHI-HT AW AR AN (TAF) T =iee)
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Options :

536228797. 1
536228798. 2
536228799. 3
536228800. 4

PART II Political Science

Section Id : 5362284
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200

Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 53622810



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 536228207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

*All aspects of luck. including natural ability, should be 1irrelevant to distributive justice’ — This
statement refers to the concept of

(1) Meritoecracy (2) Plutocracy
(3) Luck egalitarianism (4) Aristocracy
Options :

536228801. 1
536228802. 2
536228803. 3
536228804. 4

Question Number : 51 Question Id : 536228207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS R 0 g & gl vae, it T diwa, St | - 9w wue e sagron #5 3iE

FIAT 27

(1) Fre @) uf

(3) T {1 (4) el
Options :

536228801. 1
536228802. 2
536228803.3
536228804. 4

Question Number : 52 Question Id : 536228208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following 1= NOT a salient feature of ‘Individualist anarchism™

(1% Private property {2y TUltra iberalism
(3) Civil disobedience {(4) Organicism
Options :

536228805. 1
536228806. 2
536228807.3
536228808. 4

Question Number : 52 Question Id : 536228208 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

SHferaTd] srrsERATErE o FrefafEa O 3 o o v gy fadma 78 27

(1)  Fsfi weafe @) wfasaman
(3)  wfaa sras @)  FaarE
Options :

536228805. 1
536228806. 2
536228807. 3
536228808. 4

Question Number : 53 Question Id : 536228209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The theory that ‘the Earth i1s best understood as a living entity that acts to maintain its own
existence 1= known as

(1) Tragedy of commons {2) Sustainability
(3) Social ecology (4) Gala hypothesis
Options :

536228809. 1
536228810. 2
536228811.3
536228812. 4

Question Number : 53 Question Id : 536228209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o Afed #1 @l v F e s gl g w1 ouw sfiga SR w0 A g st awEn
e 2 1 7w Tagia fore A | s s 27

(1) SHHE ] (@) ErfE
(3)  wwi e @) T fre
Options :

536228809. 1
536228810. 2
536228811.3
536228812. 4

Question Number : 54 Question Id : 536228210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the following countries have no written constitution?

(1) Australia (2) New Zealand
(3) Spain (4) France
Options :

536228813. 1
536228814. 2
536228815.3
536228816. 4

Question Number : 54 Question Id : 536228210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferfaa 5 | fFm on = wiaam fafEa 38 27

(1) A T (2) =gficis
(3) ¥ (4) wH
Options :

536228813. 1
536228814. 2
536228815.3
536228816. 4

Question Number : 55 Question Id : 536228211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following forms of government 1s 1deal for Machiavell?

(1) Republic (2) Aristocracy
(3) Democracy (4) Hereditary Monarchy
Options :

536228817. 1
536228818. 2
536228819.3
536228820. 4

Question Number : 55 Question Id : 536228211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) TR (2)  FellH 4
(3)  ©iFad (4) I LA
Options :

536228817. 1
536228818. 2
536228819. 3
536228820. 4

Question Number : 56 Question Id : 536228212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following thinkers did not beheve in women equality?

(1) Plato and Mall (2) Amstotle and Hegel
(3) Mill and Mary Wollstonecraft (4) Plato and Mary wollstonecraft
Options :

536228821. 1
536228822. 2
536228823.3
536228824. 4

Question Number : 56 Question Id : 536228212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228821. 1
536228822. 2
536228823.3
536228824. 4

Question Number : 57 Question Id : 536228213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In “The Considerations on Representative Government”, J.5S. Mill did not elaborate upon

(1) Ideal government based on proportional representation
(2) Protection of minorities
(3) Institutions of self-government

(4) Political Economy
Options :
536228825. 1
536228826. 2
536228827.3
536228828. 4

Question Number : 57 Question Id : 536228213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘T Fia=yr s fstefeg wadde’ 49 v, fre 3 e e 8 avfy 280 for 27
(1) s afaffeae v st syl g
(2)  FETHEH 1 g
(3)  TE-vmEd = e
(4) Tl siefeaaen
Options :
536228825. 1
536228826. 2

536228827.3
536228828. 4

Question Number : 58 Question Id : 536228214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Aristotle’'s “1deal state 1= always Plato’s second best”. Who said this?

(1) (+.H. Sabine (2) W.Ebenstein
(3) J. A. Dunning (4) C.L Wayper
Options :

536228829. 1
536228830. 2
536228831.3
536228832. 4

Question Number : 58 Question Id : 536228214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228829. 1
536228830. 2
536228831.3
536228832. 4

Question Number : 59 Question Id : 536228215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not the funection of State. according to Kautilya?

(1) Acquisition of that which 1s not under its control and possession
(2) Preservation of what has been acquired
(3) Accentuation of what has been preserved
(4) Empire building only
Options :

536228833. 1
536228834. 2
536228835.3
536228836. 4

Question Number : 59 Question Id : 536228215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Fifeea % sgum, FrafafEa 3§ 3= o osg 1 e 37 27
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Options :

536228833. 1

536228834.2

536228835.3
536228836. 4

Question Number : 60 Question Id : 536228216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



‘Agganaszutta’ 1s related with

(1) Hindu Philosophy (2) Buddhist Philosophy
(3) Jain Philosophy (4) Vedanta Philosophy
Options :

536228837. 1
536228838. 2
536228839.3
536228840. 4

Question Number : 60 Question Id : 536228216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘wmge wEldE

®  fegwn @) g
(3 e 4) F2r e
Options :

536228837. 1
536228838. 2
536228839.3
536228840. 4

Question Number : 61 Question Id : 536228217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which one of the following party firstly joined by E.V Ramasanu Periyar?

(1) Bharatiya Janata Party (2) Indian National Congress
(3) Justice Party (4) Commumst Party of India
Options :

536228841. 1
536228842. 2
536228843.3
536228844. 4

Question Number : 61 Question Id : 536228217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(3)  wifeH i (4) wrdia i ard
Options :

536228841. 1
536228842.2
536228843.3
536228844. 4

Question Number : 62 Question Id : 536228218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of ‘credible mimimum deterrent’ relates to which of the follwing types of weapons?

(1) Chemical (2) Biological
(3 Nuclear (4) Space-based
Options :

536228845. 1
536228846. 2
536228847.3
536228848. 4

Question Number : 62 Question Id : 536228218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Frvaorg wyem frame ) gy fro O & form wem 3 31 § darg 27

(1)  TEEHEE @) S
(3)  Arfufm (4) srafre-seni
Options :

536228845. 1
536228846. 2
536228847.3
536228848. 4

Question Number : 63 Question Id : 536228219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who gave the 1dea of ‘the New Northern Concert of Power' (NNCP) to analvse the relevance of
non-aligned movement 1n post-cold war era?

(1) M.S. Rajan (2) S.D. Mum
(3 AP Rana (4) Muchkund Dubey
Options :

536228849. 1
536228850. 2
536228851.3
536228852. 4

Question Number : 63 Question Id : 536228219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
I ags g0 4 Feje sEreE 6 gl w0 fave e B (e, 8 g AiEd Fiee s wE
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Options :

536228849. 1
536228850. 2
536228851.3
536228852. 4

Question Number : 64 Question Id : 536228220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In which of the following subjects. Rajva Sabha has got more power than Lok sabha?

(1) Ratification of President’s rule in a state
(2) Creation of a new All India Service
(3) Creation of Legislation Council 1n a state

(4) Alteration 1n the boundary of a state

Options :

536228853. 1
536228854. 2
536228855.3
536228856. 4

Question Number : 64 Question Id : 536228220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

536228853. 1
536228854. 2
536228855.3
536228856. 4

Question Number : 65 Question Id : 536228221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which article of the Indian Constitution is associated with judicial activism?

(1) 14 (2) 18
(3) 21 4) 25
Options :

536228857. 1
536228858. 2
536228859.3
536228860. 4

Question Number : 65 Question Id : 536228221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT WA =1 13 | = =i ot d geafm 27

(1) 14 (2) 18
(3) 21 (4) 25

Options :

536228857.
536228858.
536228859.
536228860.

B S S

Question Number : 66 Question Id : 536228222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following was strongly opposed to the idea of Panchayati REaj system in India?

(1) B.E. Ambedkar (2) dJawva Prakash Naravan
(3) Ram Manchar Lohia (4) Mahatma Gandhi



Options :

536228861. 1
536228862. 2
536228863. 3
536228864. 4

Question Number : 66 Question Id : 536228222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFrpyferfiad 8 9 #1 9wd § 9= T saar & fAan o s fane ot

(1) &l (2) ST T
(3)  THEAE Al (4) T T
Options :

536228861. 1
536228862. 2
536228863.3
536228864. 4

Question Number : 67 Question Id : 536228223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following statement 1s false about the Indian federalism?

(1) 1t 15 a good example of "holding together’ federation

(2) 1t has a tendency of strong Central Government
(3) it reflects the spirit of ‘coming together’ federation
(4) it has been referred to as ‘quasi federal’ system
Options :

536228865. 1
536228866. 2
536228867.3
536228868. 4

Question Number : 67 Question Id : 536228223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



wyreefid Herate & dae d frefefaa § 3 9w 9w swen 27
(1) o2 |eaTs 1 Hisa Taa” 1 U 3] 2R

(@) g stk sifremef e w6 yafa 2

(3) R UFHII HH F HEAIE ) ATaH] Fi Wl Fal 8
(4) =W HE Feft voref = 2

Options :

536228865. 1
536228866. 2
536228867.3
536228868. 4

Question Number : 68 Question Id : 536228224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has given originally the idea of ‘Hindu Rashtra?

(1) V.D. Savarkar (2) KE.B. Hedgewar
(3 B.S. Moonje (4) M.5. Golwalkar
Options :

536228869. 1
536228870. 2
536228871.3
536228872. 4

Question Number : 68 Question Id : 536228224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frmg 1 =1 o= yera: feraar 27

(1)  #i.<1. gEmE (2) .. g=rEn
(3) s gS (4) UH.UH. e
Options :

536228869. 1
536228870. 2
536228871.3
536228872. 4

Question Number : 69 Question Id : 536228225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Who among the following characterized the Indian polity as being stable not in the sense of a
statlonary unresponsive state but in terms of a ‘regulated movement'?

(1) Myron Weiner (2) W.H. Morris Jones
(3) James Manor (4) Atul Eohli
Options :

536228873. 1
536228874. 2
536228875.3
536228876. 4

Question Number : 69 Question Id : 536228225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR TreEEE 1 M dE SaEr T & wne a i seer’ 4 af | v fae w27

M e (2) =%.UH. Wi S
Options :

536228873. 1
536228874. 2
536228875.3
536228876. 4

Question Number : 70 Question Id : 536228226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Who among the following was not a member of the ‘Syndicate’ group of the Congress party?

(1) M.N. Nyjjalingappa (2) Morarj Desai
(3) E. Eamaraj (4) Y.V. Chauvhan
Options :

536228877. 1
536228878. 2
536228879.3
536228880. 4

Question Number : 70 Question Id : 536228226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feaferfiaa 0 8 & i uid & Ffeske e & age 36 o

(1)  wE.u, st (2) s ear
(3) .S @) a9, Tem
Options :

536228877. 1
536228878. 2
536228879.3
536228880. 4

Question Number : 71 Question Id : 536228227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A formal organization, according to Chester Bernard. comes into existence when

(1) There are persons who are willing to contribute action

(2) There are persons with different goals and purpose

(3) There are prsons willing to communicate through informal channels only
(4) Executive is unwilling to handle the economy of incentives within an organisation
Options :

536228881. 1
536228882. 2
536228883.3
536228884. 4

Question Number : 71 Question Id : 536228227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T TS o AN Ue ST WaA sifeded O qe o 2 o
(1)  ©H =i 2 S %1 9rTEN & 55 B
(2) s eaf A o e st ggew i
(3) U =l 2 W1 el sy w8 U & g A
(4)  HTEETH FA o i dreareAl o S durer # st wl

Options :

536228881. 1
536228882. 2
536228883. 3
536228884. 4

Question Number : 72 Question Id : 536228228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The concept of ‘traditional authority involves

(1) Use of authority by virtue of their inherited status by persons

(2) The exercise of power subject to rules and regulations
(3) The use of power based on the basis of magical qualities by a person
(4) The use of power/authority as per inherited status as well as extraordinary

contribution to the history of advanced business organisation

Options :

536228885. 1
536228886. 2
536228887. 3
536228888. 4

Question Number : 72 Question Id : 536228228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gEgfE g @ gan o sy § Fofataa O 9 e afarfem 27

(1)  =afrai g formea 4 o i & o wiEesm 91 59 & 5
(2) -t % s et o
(3)  Toreil safr gron sracsrtfoen i o snav a2 o =1 94w

(4)  TaoEa o e gide ag1 SEad san 5ed & 2liErE O S GEE % SEE ST aiEaET
T
Options :
536228885. 1
536228886. 2

536228887.3
536228888. 4

Question Number : 73 Question Id : 536228229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following factors did not contribute to the evolution of the scientific management
theory?

(1) lack of effective standards of work

(2) lack of clear understanding of worker-management responsibilities
(3) rule-of-thumb based decisions by the management
(4) proper job design and economic Incentives to workers

Options :



536228889. 1
536228890. 2
536228891.3
536228892. 4

Question Number : 73 Question Id : 536228229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
freferfiaa 1 6 foA w3 Samie vaem e & Five fasm O aree 38
(1) =/ % 99l JHH i F
(2)  FHAH-TEHE SN & o9 OYE ) A9E
(3) gAY g1 FHMEEEAS SR iy o
(4)  oyfaa e stfirse si =il o sl dieame

Options :

536228889. 1
536228890. 2
536228891. 3
536228892. 4

Question Number : 74 Question Id : 536228230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following statements about the *Consumer Protection Act 2019 1s NOT true?

(1) It has widened the definition of consumer

(2) It provides for E-filing of complaints

(3) It establishes Central Consumer Protection Authority
(4) It 1ignores mediation as an alternate disputes resolution mechanism
Options :

536228893. 1
536228894. 2
536228895.3
536228896. 4

Question Number : 74 Question Id : 536228230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FUTeRT FE sifufpm 2019 % gag 4 Fafefad 8 8 99 w w5 27
(1) 594 3udiehr =l afeamy foega s 2

(2) 92 foreraa & §-wreferm 1 sraven T ¢

(3) 9% s TR EeE ey < T 2

(4) =z fgane % fuen & defcus 3 % w9 1 geed ) dgE Fo 2

Options :

536228893. 1
536228894. 2
536228895. 3
536228896. 4

Question Number : 75 Question Id : 536228231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

‘Consumer Protection Bill 2019 was passed by the Indian Parhament on

(1) 13%® July 2019 (2) 25% July 2019
(3) 6™ August 2019 (4) 9% August 2019
Options :

536228897. 1
536228898. 2
536228899. 3
536228900. 4

Question Number : 75 Question Id : 536228231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"y TRl Fevl fasrge 2019 i wra i @9 g i e

(1)  1390s, 2019 (2) 2553, 2019
(3) 6 30T, 2019 (4) 9 3WEA, 2019 FI
Options :

536228897. 1
536228898. 2
536228899. 3
536228900. 4

Question Number : 76 Question Id : 536228232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



‘Hegemony refers to

(1) economic exploitation
(2) structural inequality
(3) the capacity of bourgeoisie to displace rival views and become, in effect. the common

sense of the age

(4) military domination

Options :

536228901. 1
536228902. 2
536228903. 3
536228904. 4

Question Number : 76 Question Id : 536228232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e Hes e R
(1) sJrieh= )
(2) ST SHHATHA
(3)  feriel F=rmdl =1 sRueea w6 UTEa: 39 I 1T A1E S S o e e
(4)  HAuge
Options :
536228901. 1
536228902. 2

536228903.3
536228904. 4

Question Number : 77 Question Id : 536228233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following rejected ‘scientific determimism’ and advocated political and

intellectual struggle?

(1) Antonio Gramsci (2) Karl Marx
(3) V.I. Lemin (4) Friedrich Engels
Options :

536228905. 1
536228906. 2
536228907.3
536228908. 4

Question Number : 77 Question Id : 536228233 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

freferfiaa | forae daries Faderan @1 swfga fh s arsEifaen au sifas qed =1 9904 fFn?

(1)  weeria e @) el wd
(3) i3, e () efr wed
Options :

536228905. 1
536228906. 2
536228907. 3
536228908. 4

Question Number : 78 Question Id : 536228234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following indicates the nature of planning in India in Contemporary times?

(1) Annual Planning (2) Centralised Planning
(3) Perspective Planning (4) Five year Planning
Options :

536228909. 1
536228910. 2
536228911. 3
536228912. 4

Question Number : 78 Question Id : 536228234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A1 aua 1 and H HareE % wawy o fefofad 8 8 w0 5 a5 27

(1)  are fHamsE (2) el HaEE
(3)  wiuey fameE (4) et Fre
Options :

536228909. 1
536228910. 2
536228911. 3
536228912. 4

Question Number : 79 Question Id : 536228235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Who among the following was/is the first chairman of NITI Aavog in India?

(1) Amitabh Kant (2) Arvind Pangariya
(3) Narendra Modi (4) Manmohan Singh
Options :

536228913. 1
536228914. 2
536228915.3
536228916. 4

Question Number : 79 Question Id : 536228235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fore 1 8 e a9 il s o aw g a1 /27

(1)  AGaa F (2)  smfaw=s ganfe
(3) A HE (4) HIqEA fom
Options :

536228913. 1
536228914. 2
536228915.3
536228916. 4

Question Number : 80 Question Id : 536228236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following has presented the incremental model of public policy?

(1) Henry Fayol (2) Charles E. Lindblom
(3) Fred W. Riggs (4) David Easton
Options :

536228917. 1
536228918. 2
536228919.3
536228920. 4

Question Number : 80 Question Id : 536228236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Frreferfiaa o @ et ifa = wiue 9fs gfasy e wwa e

(D = (2) e 3. fergeet
(3)  FszE, frm (4) =fas i
Options :

536228917. 1
536228918. 2
536228919.3
536228920. 4

Question Number : 81 Question Id : 536228237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 1z not a theory or model of representation?

(1) Trusteeship (2) Delegation
(3) The Mandate (4) Consensus
Options :

536228921. 1
536228922.2
536228923.3
536228924. 4

Question Number : 81 Question Id : 536228237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
f= | B - vfafatara o faama e ufaey 38 27
(1y  =faa (2) gAY
(3)  SHE (4) wdwET

Options :

536228921. 1
536228922.2
536228923.3
536228924. 4

Question Number : 82 Question Id : 536228238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Greek system of classification of regimes, the degenerative form of rule by many

1s known as

(1) Tyranny (2) Anmnstocracy
(3) Anarchic democracy (mob rule) (4) Olgarchy
Options :

536228925. 1
536228926. 2
536228927.3
536228928. 4

Question Number : 82 Question Id : 536228238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gTHAT % anfiera) 1 G TEfa * SAIET S 20 I o T w5 ) S S 27

(1 g e (2) FHeAH
(3) 31T eAThad (ofie = ) (4) Headd
Options :

536228925. 1
536228926. 2
536228927.3
536228928. 4

Question Number : 83 Question Id : 536228239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following 1z often portrayed as the ‘father’ of cultural nationalism?

(1) Guisseppe Mazzim (2} Charles Maurras
(3) Frantz Fanon (4) Johann Gottfried Herder
Options :

536228929. 1
536228930. 2
536228931.3
536228932. 4

Question Number : 83 Question Id : 536228239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e o 9 Fop W mrepferss TrgaTe o o4 & w9 1 fawioa /fafa o o 27

(1) 758y Dl (2) =T Hi
(3)  FzE HH (4) A TEHEE 7
Options :

536228929. 1
536228930. 2
536228931.3
536228932. 4

Question Number : 84 Question Id : 536228240 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following 15 NOT a cause of Democratic Shift in the context of
Democratisation?

(1) Crisis of import-substitution

(2) Loss of popularity and legitimacy by military regimes

(3) Social change

(4) Media

Options :

536228933. 1
536228934. 2
536228935.3
536228936. 4

Question Number : 84 Question Id : 536228240 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
EH a0 & Hed U HE 4 9 -1 SAraras fFad4 &0 w38 87
(1) S-Sl =1 S
(2) & 9TEA sudR E ZR S SR Ud S
(3)  wmifere A
(4)  SEEIY

Options :

536228933. 1
536228934. 2
536228935.3
536228936. 4

Question Number : 85 Question Id : 536228241 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Who among the following reformulated Hans Morgenthau's ‘six principles of pohitical realism’
from a feminist perspective?

(1) Judith Butler {2y  J.Ann Tickner
(3) Helen M.Kinsella (4) Betty Friden
Options :

536228937. 1
536228938. 2
536228939.3
536228940. 4

Question Number : 85 Question Id : 536228241 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Feferfigd 4 4 fred 9fad gfewm & 2= oriars & fem ifued sie ifafesa s
AT f e ?

QS sz (2) S
(3)  =eF vA. fHen oy Sl
Options :

536228937. 1
536228938. 2
536228939.3
536228940. 4

Question Number : 86 Question Id : 536228242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘The combination of liberal democracy and the market had drawn a fimishing line in the

history of political and social development’. Who made this statement?

(1) Samuel P. Huntington (2) Benjamin Barber
(3) Francis Fukuyama (4) Alexander Wendt
Options :

536228941. 1
536228942. 2
536228943.3
536228944. 4

Question Number : 86 Question Id : 536228242 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

“FE elledd 311 Jr= & 4w 4 e i amrfeae faem & efaam O garm e w4 2 ) 9s e e

a7

(1)  Bgara . g#fare (2)  arenfue s

(3) I wEE (4) Ui A2
Options :

536228941. 1
536228942. 2
536228943.3
536228944. 4

Question Number : 87 Question Id : 536228243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s the executive-bureaucratic arm of the European Union?

(1) The European Council
(2) The European Commission

(3) The Council

(4) The European Parliament

Options :

536228945. 1
536228946. 2
536228947.3
536228948. 4

Question Number : 87 Question Id : 536228243 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
frerfetfiaa o @ i we 61 - g #1591 27
(1)  girdfa vfiyg
(2) M HAEm
(3)  Uimg

(4)  FIdE g

Options :



536228945. 1
536228946. 2
536228947.3
536228948. 4

Question Number : 88 Question Id : 536228244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following 1s not a principle of jus ad bellum (Just recourse to war)?

(1) Just cause (2) legitimate authority
(3) proportionality (4) humanity
Options :

536228949. 1
536228950. 2
536228951.3
536228952. 4

Question Number : 88 Question Id : 536228244 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frfetfiaa 04 1 w1 575 e dam” (44 %1 ~radd (o) #1 frgia =2 27

() =T R ) fafa gra wifeen
(3) AW Ifere 4) arEE
Options :

536228949. 1
536228950. 2
536228951.3
536228952. 4

Question Number : 89 Question Id : 536228245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following 1s NOT a key figure of ‘Conservatism?

(1) T.H. Green (2) Edmund Burke
(3) Michael Oakshott (4) Fmnedrich Von Havek
Options :

536228953. 1
536228954. 2
536228955.3
536228956. 4



Question Number : 89 Question Id : 536228245 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o

frferfiaa o =13 =fear & SpEE fom 421 37

(1) A= e (2) U=HE T+
(3) T AT (4) s afF e
Options :

536228953. 1
536228954. 2
536228955.3
536228956. 4

Question Number : 90 Question Id : 536228246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which one of the following countries, ‘consoclationalism’ as a power-sharing mechanism 1s

not practiced?

(1) Germany (2) Netherlands
(3) Switzerland (4) Belgium
Options :

536228957. 1
536228958. 2
536228959.3
536228960. 4

Question Number : 90 Question Id : 536228246 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Trerferfiaa o @ fora 291 4w O gearfir & &9 o #0 0 “gafradiaa’ 1 =32 s s 27

(1) S (2) Hrerde
(3) s (4) wfeeram
Options :

536228957. 1
536228958. 2
536228959.3
536228960. 4

Question Number : 91 Question Id : 536228247 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which among the following 1s not an element of G. A. Cohen's thought on the theory of
socialism?
(A) Theory of maldistribution of freedom under capitalism
(B) Genuine fraternity promulgated by liberal egalitarianism
(C) Deep inegalitarian structure of John Rawl's theory
(D)  Market socialism
Options :

536228961. 1
536228962. 2
536228963.3
536228964. 4

Question
Mandato

Number : 91 Question Id : 536228247 Question Type : MCQ Option Shuffling : No Is Question
ry : No

Correct Marks : 2 Wrong Marks :

frfarfaa 0 9 5 garaare & e g9+ v, Fieq + fagn %1 qma 980 27

(A)
(B)
(C)

(D)

SfiaTE o iRt Sl o SR fad % g
FEFEETE] AUAETE H W AT AT
4 Wedt & T &l e AHgaed

AT HHTSETRE

1 fen o fasredl © | w3 o

(1)
(2)

(3)

(4

Options :

Fael (A) 3R (B)
Fael (A) 31 (C)
#Had (B) 31 (C)

Fad (C) 3 (D)

536228961. 1
536228962. 2
536228963. 3
536228964. 4



Question Number : 92 Question Id : 536228248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true about dependency theory?

(A) Dependency theory was strongly influenced by Marxists and Non-Lemnists who were
critical of Development theory

(B) Dependency theory stressed the peaceful, evolutionary process of modernisation

(C) Development in the third world was dependent on development in the already

developed nations.

(D) The First World does not exploit the third world

Choose the most appropriate answer from the options given below:

(1) A and B Only
(2) A and D Only
(3) A and C Only

(4) C and D Only

Options :

536228965. 1
536228966. 2
536228967. 3
536228968. 4

Question Number : 92 Question Id : 536228248 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tl fieta o o1 H s 0 8 FH -3 sy g 27

(A) TIiHT fEd W uEEaEl s W-dfHEaiEd w1 oagd gwE T o fawm frem
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(B) Wi fagra sqvepfehiareor = sl e e g o & 50 2
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(1)  %ael (A) 31 (B)
(2) A (A) 31 (D)
(3)  had (A) 3T (C)

(4)  %ad (C) 37 (D)
Options :
536228965.
536228966.
536228967.
536228968.

AW N =

Question Number : 93 Question Id : 536228249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true about the Authoritarianism and Totahitarianism?

(A) In authoritarian regime.government is not constitutionally responsible to the public

(B) Authoritarian regimes may be institutionalised and legitimate

(C) Totalitarian regimes seek to control and transform all aspects of the state. society and
economy

(D) Totalitarian regimes do not have strong ideological goal and do not use violence as a

tool for remaking institutions

Choose the most appropriate answer from the options given below:
(1) B. C and D Only
(2) C.D and A Only
(3) D, A and B Only
(4) A. B and C Only

Options :

536228969. 1
536228970. 2
536228971.3
536228972. 4

Question Number : 93 Question Id : 536228249 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



f 1 9 -4 wya fpeprarans i adadmans & e d 9 27

(A sy o s § wvEn G3arie w8 s & ofa saeEeh 1@ )

(B) T ST ST S S 3 F a2
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T e 2
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A1l fao 7o fasredi 4 & wdfl 3w g

(1) =& (B), (C) 1 (D)
(2) %4l (). (D) 3 (A)
(3)  #ad (D). (A) 31 (B)
(4)  Fdel (A), (B) 31 (O)

Options :

536228969. 1
536228970. 2
536228971.3
536228972. 4

Question Number : 94 Question Id : 536228250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to Aristotle. which of the following statements are correct?

(A) Polis should be large enough to guarantee self sufficiency and small enough to ensure
good government

(B) The Polis was natural and prior to the individual. not chronologically but teleologically

(C) Polis 1s the highest and most comprehensive of Human Associations

(D) Polis 1s man writ large

Choose the correct answer from the options given below:

(1) A and D Only
(2) B and D Only
(3) C andD Only
(4) A B and C Only

Options :

536228973. 1
536228974. 2
536228975.3
536228976. 4

Question Number : 94 Question Id : 536228250 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HTE o A 1 A Al w7 27

(A) il =1 ga1 gea w1 Ay R srefadven wfafre w1 o gan gen am ate B gume g
2w

(B) e YTefae o1 30T =i 1 d w9 91, FEATER T8 g 39y3 W w9 H

(C)  iferd 9 |l 31 33ay 301 gaifis sams =9 2

(D) viferd W4 %1 gadad 2|

419 fou aru forsredi | 3 vl 37 9

(1) 49 (A) 3T (D)
(2)  FaEd (B) 37 (D)
(3)  del (C) 3 (D)

(4)  FFe (A), (B) 1 (O)

Options :

536228973. 1
536228974. 2
536228975. 3
536228976. 4

Question Number : 95 Question Id : 536228251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Marx’s concept of alienated labour includes

(A) Alienation from the Product
(B) Alienation from the Process
(C) Alienation from Species

(D) Alienation from Nature

Choose the correct answer from the options given below:

(1) A and B Only
(2) B and C Only
(3) C and D Only
(4) A.B.Cand D Only

Options :

536228977. 1
536228978. 2
536228979. 3
536228980. 4

Question Number : 95 Question Id : 536228251 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e % faataa om ) deenn § afafer 27
(A) IR o faEas

(B)  ufg 4 FHEaa

(C) vl 3 fadeem

(D)  wHfa & e

1=l o e faereai d § w2 39 M

(1) 4 (A) 31 (B)
(2)  F4a+ (B) 30 (D)
(3)  *ad (C) 3 (D)

(4) (A). (B). (C) 31 (D) |

Options :

536228977. 1
536228978. 2
536228979. 3
536228980. 4

Question Number : 96 Question Id : 536228252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are the statements about the difference between passive resistance and

satyagraha. Which ones are true?

(A) Passive resistance 1s weapon of the weaker sections, satyagraha never desires to
terrorise the opponent

(B) Passive Resistance 1s negative In practice. whereas satvagraha 1s positive morality

(C) Passive Resistance 1s equivalent to satyagraha

(D) Passive Resistance 1s not afraid of the physical strength while satyagraha 1s afraid of
physical strength

Choose the correct answer from the options given below:

(1) A and B Only
(2) Cand D Only
(3) B and C Only

(4) A. and D Only

Options :

536228981. 1
536228982. 2
536228983.3
536228984. 4

Question Number : 96 Question Id : 536228252 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hr fafcra ufenia s genre & g & 3 o o d oA fou o 2) 390 8 1 4 F99 98 27

(A  Tfssrg ufcira s 3 o e 2, gemre &l o faefi =61 snafera a8 s =eda 21
(B) e ufeie sgaer § sy 2, s qeans g fawdl 2
©y  Tafera ufes, geame & 39H 2

(D) Taferg wioma =1 odifoe st 9 w9 980 2 2 sef demre w1 9 90 3 99 260 2

< o o fased] 6 | w2 3 i

(1)  dd (A) 317 (B)
(2) = (C) 37 (D)
(3)  &HaA (B) 31 (C)

(4)  @ad (A) 37 (D)

Options :

536228981. 1
536228982. 2
536228983.3
536228984. 4

Question Number : 97 Question Id : 536228253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Java Prakash Narayan formed which of the following parties?

(A Congress Soclalist Party
(B) Bhoodan Aandolan Party
(C) Praja Socialist Party

(D)  Democratic Praja Socialist Party

Choose the most approprate answer from the options given below:

(1) A and B Only
(2) B and C Only
(3) C and D Only

(4) A and C Only

Options :



536228985. 1
536228986. 2
536228987.3
536228988. 4

Question Number : 97 Question Id : 536228253 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT TR e 1 9 T ge e

(A) Ay Hefere ard
(B)  9EH A=EEH T
(C) w1 HrTfer Tr

(D) =2arEfzE yen drerfers o

A1 fe, o feerend & wtfors s e o -

(1) & (A) @R (B)
@ = (®) i (©)
(3) %= (C) 37 (D)
(4)  FF9 (A) 3 (C)

Options :

536228985. 1
536228986. 2
536228987.3
536228988. 4

Question Number : 98 Question Id : 536228254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



‘Fatwa-i1-Jahandan' of Ziauddin Barani 1= related with

(A) Adwvices for Muslim kings 1in order to earn religious merit and the gratitude of the
subject

(B) Adwvices to all the kings

(C) Description of the origin of state

(D) Tenets of secularism

Choose the correct answer from the options given below:

(1) A and B Only
(2) A Only
(3) B and C Only

(4) C and D Only

Options :

536228989. 1
536228990. 2
536228991.3
536228992. 4

Question Number : 98 Question Id : 536228254 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fararadia sl 1 waar-—u-srererdy Fofofaa 9 § fea 4 gafaq 27

(A) iR qua i g ol g sifsla e ag gieems se o for wome
(B)  wdi v o fer e

(C) =gl 3eufa 1 ave

(D) v fiea & FHan

14l fau o foered] § | & 3 g ;

(1)  =ael (A) 1 (B)

(2)  FEA (A

(3)  ad (B) 31 (C)

(4)  hdd (C) 3 (D)
Options :
536228989.
536228990.

536228991.
536228992.

AW N~

Question Number : 99 Question Id : 536228255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true with regard to Pandita Ramabai?

{A) She was a staunch supporter of Hindu Philosophy
(B) She was a pioneer in the field of education and emancipation of women in India
(C) She was the writer of “The High Caste Hindu Women'

(D) She was Ant1-Christiamty

Choose the correct answer from the options given below:

(1) AandB

(2) B andC

(3) Cand D

(4) Aand D
Options :

536228993. 1
536228994. 2
536228995.3
536228996. 4

Question Number : 99 Question Id : 536228255 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



9 O | R O A ufed s & g99 4 5 27

(&) 9z feg-g9ia i Fee auds o
(B)y @2 ud H uieensii & S 3w gid & a3 g suof of
(C) 9% <R /2 fa gu= ) cifigs 4

(D)  d% gars e e off

1 Tau 7o feeredi 0 4 5l 39 gAY ;

(1)  Fdd (A) 3F (B)
(2)  FHA (B) N (C)
(3)  Faa (C) 3 (D)
(4) %4 (A) 31 (D)

Options :

536228993. 1
536228994. 2
536228995.3
536228996. 4

Question Number : 100 Question Id : 536228256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In which of the following countries, did India participate in the peace keeping operations?

(A) Korea
(B) Gaza strip
(C) Cyprus

(D) Lebanan

Choose the correct answer from the options given below:

(1) Aand B Only
(2) A, B and C only
(3) B. C and D Only

(4) A B.CandD all



Options :
536228997. 1
536228998. 2
536228999. 3
5362281000. 4

Question Number : 100 Question Id : 536228256 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ey O 3 farg 2 O aea 3 snfd s i O ap ferar an?
(A) il
(B) T U
(C)  amEyw
(D) o
A1 fou o faeredl d @ w3 g
(1) a4 (A) 37 (B)
(2)  FEe (A). (B) #E (C)
(3)  #ad (B). (C) 3% (D)
4 Q). B). (C) 3 (D) 1

Options :
536228997. 1
536228998. 2
536228999. 3
5362281000. 4

Question Number : 101 Question Id : 536228257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following features of the Indian political system are false?

(A) Dual government

(B) Supremacy of the Parllament

(C) Indestructability of the union

(D) Indestructability of the states

Choose the correct answer from the options give below:
(1) (A) and (B) only

(2) (B) and (C) only

(3) (B) and (D) only

(4) (C) and (D) only

Options :

5362281001. 1
5362281002. 2
5362281003. 3
5362281004. 4

Question Number : 101 Question Id : 536228257 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



apefTa TR Sraeen & Heo U 19 -0 e sEe 27
(A) S EA

(B) Tz Fwdi=a

(C) &9l SHwr]

(D) T = SeguuTe

1t fe o fereped 4 & @l 3 v

(1)  *del (A) 37 (B)
(2)  #ad (B) 3 (C)
(3)  #dd (B) 3 (D)
(4)  FEe (C) 3w (D)

Options :

5362281001. 1
5362281002. 2
5362281003. 3
5362281004. 4

Question Number : 102 Question Id : 536228258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are civil society organizations?

(A) Bachpan Bachao Andolan
(B) India Against Corruption
(C) Vigvan Prasar

(D) Majdoor Kisan Sangharsh Samat1

Choose the correct answer from the options given below :

(1) (A) and (C) only
(2) (A) and (B) only
(3) {A). (B), (C) and (D) only

(4 (A). (B) and (D) only

Options :

5362281005. 1
5362281006. 2
5362281007. 3
5362281008. 4

Question Number : 102 Question Id : 536228258 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Faeferfiga 09 % wva gy a9 27

(A) T T ARG
(B)  SfEd S0 9
(C) Tagm vam

(D) g ferar = wfaid
et Teu e famred| § 6 A&l fasen =1 sma =1

(1)  =de (A) 31 (C)

(2) 4 (A) 3 (B)

(3)  (A). (B), (C) 31 (D) &l
(4)  Ha (A). B) 31 (D)

Options :

5362281005. 1
5362281006. 2
5362281007. 3
5362281008. 4

Question Number : 103 Question Id : 536228259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding women’s movement 1n India are true?

(A) Arya Sama) was not concerned about women's 1ssues at all.
(B) All India Women's Conference was set up in 1924,
(C) Sarojini Naidu and Annie Besant raised the issue of right to vote for women.

(D) Tilak's ‘Ganesh Utsavas’ were mainly aimed at drawing women into national

movement.

Choose the correct answer from the options given below :

(1) {A) and (B) only
(2) (B) and (C) only
(5) (C) and (D) only
(4) (A) and (D) only

Options :

5362281009. 1
5362281010. 2
5362281011. 3
5362281012. 4

Question Number : 103 Question Id : 536228259 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Frferfam e 4 8 #1739 F99 99E 1 gieen AEEH + G99 4 56 67

(&) i murs aigen gal o o g qoih: He o)

(B) g grd gfzen dierq (w9 sfem dit= w2k ) 1 s2roEr 1924 9 2|
(C) =l g o0 vl sidfe A afzensi & a2 & sl #1 gga 32m

(D) Treteh o 1or9 3eeEl 1 gved 3RV T STiETeM | Higensd 1 aftifer e an)

1t feu o fared] 6 4 g 3 g -

(1)  Faa (A) 37 (B)
(2)  F4E (B) 31 (O)
(3)  wad (C) 3T (D)

(4)  Fad (A) 37 (D)

Options :

5362281009. 1
5362281010. 2
5362281011. 3
5362281012. 4

Question Number : 104 Question Id : 536228260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following provide the structural — functional perspective on the nature of
Indian State?

(A) W.H. Morris Jones

(B) Rajni Kothar

(C) Francine Frankel

(D Llvod Rudolph

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (A). (B). (C). (D)
Options :
5362281013. 1
5362281014.2
5362281015. 3
5362281016. 4

Question Number : 104 Question Id : 536228260 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



qRATE T 31 FeTd o @1 4 AT ~Tehaiede T A 5 wed o e a v

(A) =9, U=, OiiE S
(B)  TeHI F1BH
(C)  WITEH ke

(D)  ©9S EEITF
A1 fu o faaredi o 5 o 390 9w -

(1) =+ (A) ¥ (B)
(2)  %ad (B) 3 (C)
(3) @ (C) 31 (D)

(49 (A). (B). (C) 3 (D) a4

Options :

5362281013. 1
5362281014. 2
5362281015. 3
5362281016. 4

Question Number : 105 Question Id : 536228261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of prismatic model of F.W. Riggs?

(A) Formalism
(B) Heterogeneity
(C) Overlapping

(D) Bureau of office

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (A). (B). (C) and (D) only
(3) (B) and (D) only

(4) (C) and (D) only

Options :

5362281017. 1
5362281018. 2
5362281019. 3
5362281020. 4

Question Number : 105 Question Id : 536228261 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U, ga, g o wurnAia (s i) gize 61 4 i fefafa fafma 27
Ay ST

(B)  femy S

(C)  #HAT=a1A

(D) =g A FRETe

o

i fou o fasred] U | |58 3w g

(1)  =de (A), (B) 51 (C)

(2 (A). B). (C) = (D) &+
(3) = (B) 37 (D)

(4) 4w (C) 3 (D)

Options :

5362281017. 1
5362281018.2
5362281019. 3
5362281020. 4

Question Number : 106 Question Id : 536228262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are associated with the notion of governance?

(A) Competitive democracies
(B) Participatory democracy
(C) Democratic administration

(D) Change — oriented democracy

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only

(4) (B) and (D) only

Options :

5362281021. 1
5362281022.2
5362281023. 3
5362281024. 4

Question Number : 106 Question Id : 536228262 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



i 49 Fa-ar e 1 oaron 3 Hafiaa 27

(A)  WideIgTae wiFdad
(B)  d=dTil AT
(C)  ATFdl=h T

(D)  uftad-TegE e

Tt e o feasred o | w2 T difeo

(1)  Fas (A) 30 (B)
(2) e (B) 31 (C)
(3) %4 (C) 3 (D)

(4)  Fad (B) 31 (D)

Options :

5362281021. 1
5362281022. 2
5362281023. 3
5362281024. 4

Question Number : 107 Question Id : 536228263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true about the concept of governance?

(A) It does not simply mean ‘rule’ or ‘administration’
(B) It has a specific meaning in the context of globalisation
(C) It 1s the manner in which power 1s exercised

(D) Governance and government are the same thing

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A). (B) and (C) only
(3)  A). (B (C). (D)
(4) (B).(C). (D) only

Options :

5362281025. 1
5362281026. 2
5362281027.3
5362281028. 4

Question Number : 107 Question Id : 536228263 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



I = &1 d Fefetas O 9 F9 -9 Fy[ w8 27

(A) O |TUTR ST GINEH HOH1 A (rule) JE1 21
(B) g & Had d g fasm o 2
(C)  ge ¥Ifeh = UgP 7 1 i 2|

(D) 9T 1T AT U A 2

1 fau o fasradi d @ w391 difs

(1) Fae (A) 3N (B)
(2)  Fae (A). (B) 3K (C)
(3) (A). (B). (C) 31 (D) &

(4) 4 (B). (C) 31T (D)

Options :

5362281025. 1
5362281026. 2
5362281027.3
5362281028. 4

Question Number : 108 Question Id : 536228264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following terms 1s referred to as the ‘software’ of the state?

(1) Capacity (2) Acccountability
(3) Resilience (4) Responsiveness
Options :

5362281029. 1
5362281030. 2
5362281031. 3
5362281032. 4

Question Number : 108 Question Id : 536228264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e

Feferfiaa | a9 -1 aron 759 &1 qreagr uH s 27

(1) & (2)  SETERd
(3)  Sfraea (4) s
Options :

5362281029. 1
5362281030. 2
5362281031. 3
5362281032. 4

Question Number : 109 Question Id : 536228265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following regarded state as a ‘necessary evil?

(1) Jeremy Bentham (2) Thomas Paine
(3) James Mill (4 J.5.Mill
Options :

5362281033. 1
5362281034. 2
5362281035. 3
5362281036. 4

Question Number : 109 Question Id : 536228265 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fepepforfiara 1 & foras Trsa 1 vah sTavEs 38 9 27

(1) S sem (2) g
(3) o fire (4) S.vm. i
Options :

5362281033. 1
5362281034. 2
5362281035. 3
5362281036. 4

Question Number : 110 Question Id : 536228266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following 1s NOT a post modern thinker?

(1) Jean Francoils Lyotard (2) Michel Foucault
(3) Richard Rorty (4) Herbert Marcuse
Options :

5362281037. 1
5362281038. 2
5362281039. 3
5362281040. 4

Question Number : 110 Question Id : 536228266 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Feeferfia o @ i 3w smgfes feme 41 27

(1) S w5 aEers (2) s g
(3 fragad (4) S U
Options :

5362281037. 1
5362281038. 2
5362281039. 3
5362281040. 4

Question Number : 111 Question Id : 536228267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List II
(A) The Age of Consent () Jacgues Derrida
(B) Parecon (I Naomi Klein
(C)y BSpectres of Marx (III) George Monbiot
(D) No Logo (IV) Michael Albert

Choose the correct answer from the options given below :

(1) (A)-AD. (B)-(D. (C)-(IV), (D)-(I1I)
(2)  (A)-AV). (B)-ID. (C)-1I). (D)-(I)
(3)  (A)-AID. (B)-AV). (C)-I). (D)-(II)
4)  (A)-D). (B)-ID). (C)-(IID). (D)-(IV )

Options :

5362281041. 1
5362281042. 2
5362281043. 3
5362281044. 4

Question Number : 111 Question Id : 536228267 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A= TRt 5= 113 gefaa $ifsm)

g1 o1 1T
(&) TEHfd () Sy i
(B) g (I)  Ar3di Fi4
(C) wrd =il & (Ve 37 Ty ) (II1) <7 giamEe
(D) A& (IV) HigsFal Head

i fau o faeredi 6 & w39 afi ;

(1) (A)-I). (B)-). (C)-(IV). (D)-(ILI)
(2) (A)-(IV), (B)-(IID), (C)-0D), (D)-(I)
(3) (A)-(II). (B)-(IV). (C)-(dD. (D)-(I)
(4) A)-D). (B)-II). (O)-(I1D), (D)-AV)

Options :

5362281041. 1
5362281042.2
5362281043. 3
5362281044. 4

Question Number : 112 Question Id : 536228268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T wath List IT

List I List IT
{a) Security Complex (11  Earl Deutsch
(b) Common Security (1) Robert Jervis
(c) Security Community (1) Barry Buzan
(d) Security Regimes (iv) Palme Report, 1992

Choose the correct answer from the options given below :

(1) (A4)-(D). (B)-(ID), (C)-(IIT). (D)-(IV)
(2) (A)-(IV). (B)-(IID). (C)-(ID). (D)-(D)
(3) (A)-(IV). (B)-(IID). (C)-(T), (D)-(ID)

(4)  (A-IID, (B)-(IV). (O)-(D). (D)-(ID)

Options :

5362281045. 1
5362281046. 2
5362281047.3
5362281048. 4

Question Number : 112 Question Id : 536228268 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



oAl 101 4=l 1T = =7 gufera $ifsm)

(A)
(B)
(C)

(D)

=l 1
g ufe
afee e
Hiat 495

a1 I SHETE

et oo o faeredi 6 § @& 39 o

(1)
(2)
(3)
(4)

Options :

(A)-(@). (B)-(ID). (C)-(IID). (D)-(IV)
(A)-@V). (B)-1D). (C)-1I). (D)-(I)
(A)-IV). (B)-(IID). (C)-(@). (D)-(II)
(A)-(ID). (B)-IV). (C)-@). (D)-(ID)

5362281045. 1
5362281046. 2
5362281047. 3
5362281048. 4

Question Number : 113 Question Id : 536228269 Question Type : MCQ Option Shuffling

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o1 11
(D e 5
(I1) T siefam
(IID) =i o=

(IV) Tred for, 1902

: No Is Question



Match List T with List IT

ListI List IT

(a) Bipolarity 1= the most stable (1) Kenneth Waltz
distribution of power

(b) Interests are defined as power (1) John Mearsheimer

(c) States seek to maximize their relative (1) Hans Morgenthau
power position

(d) Justice, law and society have no place (iv) Thucidides
or are circumscribed in International
politics

Choose the correct answer from the options given below :

(1) (A)-(IV). (B)-(II). (C)-(ILI). (D)-(I)
(2) (A)-(D). (B)-(II), (C)-1D), (D)-AV)
(3) (A)-(IID. (B)-(1). (C)«(IV). (D)«ID)
(4) (A)-(ID. (B)-(IV). (C)-(D). (D)-(III)

Options :

5362281049. 1
5362281050. 2
5362281051. 3
5362281052. 4

Question Number : 113 Question Id : 536228269 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gl =1 g=fi 11 = a1y guferd Fifem)

H+i I o= 11
(A)  Ta—yga wifeh o Faifae feo foam 2 (D 4 arees
(B) el =1 wifvr % =g o afeurfis R mmn 2 (1) < faaem
(C) =g Hl wrdfesk ot fafa = sifaswag (D) #79 grrrs
T4 1 TIH F 2

(D) SAaugi weEHita 4 =m, 4 3 g w1 (V) griEEey
F1E T T8 & gy 3 wirdiiga e s

2l
{11 faw 7 foashedi | & w1 30 g -

(1) (AIV). (B)-(ID). (C)-(IID. (D)-(D
2y (A-D). (B)-IID), (C)-(I). (D)-(IV)
(3y  (A)-AID. (B)}-D. (C)-(IV). (D)-(II)
(4) (A)-(ID). (B)-(IV). (C)-(D), (D)-(I1T)

Options :

5362281049. 1
5362281050. 2
5362281051. 3
5362281052. 4

Question Number : 114 Question Id : 536228270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following characterise International Criminal Court (ICC)?

(A) The Rome statute established ICC as ‘Court of last resort’

(B) ICC can exercise jurisdiction only when national courts are unwilling or unable to

investigate or prosecute
(C) It can not prosecute acts of war crimes

(D) ICC 1s not located in the Hague

Choose the correct answer from the options given below :

(1) {A) and (B) only
(2) (B) and (C) only
(3) (C) and (D) only
(4) (A) and (D) only

Options :

5362281053. 1
5362281054. 2
5362281055. 3
5362281056. 4

Question Number : 114 Question Id : 536228270 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



sEIHE [ e #1 (ICC) 1 feferfiaa § & & i faforgam 37

(A) 318 == o i s e feard o g 1 v faf (22sge) g wenfua feran e

(B) 1 Hl s syl A w1 Al wH o Al 2 6 TR e S e suE] S T H
 fem safrege sgeran sromd 20

(C) a2 4z sAmulas Ficdi o fawg stfudrsm 3d =en g+ 2|

(D) i Hid o femadizg

et feu o faswed] § & w2 3w g

(1) & (A) 3 (B)
(2)  FE (B) HW (O
(3) &= (C) 3 (D)
(4) e (A) 3R (D)

Options :

5362281053. 1
5362281054. 2
5362281055. 3
5362281056. 4

Question Number : 115 Question Id : 536228271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following characterise shallow or reformist ecology?

(A) Reformist ecology seeks to rconcile ecology with capitalist modernity
(B) It recognises limits to growth’

(C) It rejects all forms of anthropocentrism, embracing ecocentrisim

(D) It considers damamege to environment as an externality or ‘social cost’

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only
(2)  (B). (C) and (D) only
(3)  (A). (B) and (D) only
(4)  (A). (C) and (D) only

Options :

5362281057. 1
5362281058. 2
5362281059. 3
5362281060. 4

Question Number : 115 Question Id : 536228271 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
frrferfiaa o st wae) syaan geward wiidceta 4 i 27

(&)  gaward urfifcatahl, mifefed a defard s o geg angsre warfra s e 2
(B) =z afg i dfmei 1 whiwr Fd 2
(C)  meurfdEfas Sam 1 9 §U gHaF5a1E & Hue B F SFTER #d 2 |

(D) =2 AREY F) & 0 SR S9e) Hise AT W 2 )

1=l faw o fasred] | | | 30 g ;

(1) & (A), (B) 317 (C)
(2)  F4E4 (B). (C) 31 (D)
(3)  Had (A). (B) # (D)

(4)  FF (A). (O) 31T (D)



Options :

5362281057. 1
5362281058. 2
5362281059. 3
5362281060. 4

Question Number : 116 Question Id : 536228272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is true about International Monetary Fund (IMF)?

(A) The IMF 1= not created by the Bretton Woods Agreement
(B) It= functions 1s to ensure exchange rate stability
(C) Critics see IMF as political arm of neoliberal globalization

(D) The IMF 1s not a specialized agency of the UN

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) (B) and (C) only

(4) (A) and (D) only

Options :

5362281061. 1
5362281062. 2
5362281063. 3
5362281064. 4

Question Number : 116 Question Id : 536228272 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



SAeid yz1 = (308, vn v, ) F ey 4§ frafatan 4 9 = @ e wd 27

(A)  HIE.UH.UF, 1 Yo ded o8 quid gr1 A R g
(B)  zaw wr fafmy 5 e = gfafva wm2)
(C)  HATEATHF H13 UH.UF. ol 4a IS Jedian ) Ao q=n + w9 d g 2

(D)  rE.um vk, 5y ag i ol vid ad

<t fio u Feraren 6 & el 3o i -

(1)  &de (A) 37 (B)
(2)  #4F& (C) #HN (D)
(3)  haw (B) 3 (C)

(4) I (A) 3R (D)

Options :

5362281061. 1
5362281062. 2
5362281063. 3
5362281064. 4

Question Number : 117 Question Id : 536228273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Tist T with List IT

List I List IT
Author Book
(A) Hannah Arendt (I) Little Red Book
(B) Frantz Fanen (I} The Wretched of the Earth
(C) Mao Tse Tung (III) Affluent society
(D) John K. Galbraith (IV) The Human Condition

Choose the correct answer from the options given below :

1 (A-O. B)-ID). (C)-IID. (D)-IV)
(2)  (A-ID. (B)-(ID). (C)-(IV). (D)-(D)
3 (A)-aV). (B)-1D). (C)-(@), (D)-I)
4  (A-ID. (B)-ID). (C)-IV). (D)-(D)

Options :

5362281065. 1
5362281066. 2
5362281067. 3
5362281068. 4

Question Number : 117 Question Id : 536228273 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



a1 T gl 11 =1 gufera Fifs)

g 1 ol 11
T A
(A) BHRE U @O fefes iz g
(B) s wAA (I) =ide #iwe w4
(C) HIHI-Fd 7 (III) UFAUZ HIHFEE
(D) S . Tietsid (IV) & 754 F<1H

7 fou o fased| O | |l 39 T

(1) (A)-D). B)-ID), (C)-III). (D)-IV)
(2)  (A)-ID. (B)-(IID, (C)-(IV). (D)-(D)
(3)  (A-IvV). (B)-ID. (C)-1). (D)-(IID)
(4)  (A)-IID. (B)(ID. (C)-(IV), (D)-(D)

Options :

5362281065. 1
5362281066. 2
5362281067. 3
5362281068. 4

Question Number : 118 Question Id : 536228274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

(a)
(b)
(e}

(d)

List I
Works of Rabindranath Tagore
Geetanjall
Gora
Sadhana

Ghare — Baire (The home and the
world)

(1)
(11)

(111)

(1v)

List IT
Content of the work
The realization of life
Devotion of God

Deeper meaning of life in the backdrop
of Swadeshi movement

Analysis of the multifarious social life
in colonial India

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(&A)-(1I). (B)-(ID. (C)-(D. (D)-(IV)
(A)-(IV). (B)-(I). (C)-(IL). (D)-(IIT)
(&4)-(1). (B)-(IV). (C)-(I), (D)-(IIT)
(A)-A1). (B)-(I). (C)-(IV). (D)-(III)

Options :

5362281069. 1
5362281070. 2
5362281071. 3
5362281072. 4

Question Number : 118 Question Id : 536228274 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



|l Tt &A1 1T % & Hufera fifau)

(A)
(B)

(D)

HA 1
T2y 2 & T
HiGiEiE]
T
DR

Hi-aTH (2 80 Ug 2 9eE)

et e o femred] O @ wefl 3 g

(1)
(2)
(3)
(4)

Options :

(A)-(ID). (B)-(ID). (C)-(D). (D)-(IV)
(A)-AV). (B)-(D), (C)-(I1), (D)-(III)
(A)-(D). B)-(IV). (C)-(D). (D)-(III)
(A)-(I). (B)-(D). (C)-(IV). (D)-(IID)

5362281069. 1
5362281070. 2
5362281071. 3
5362281072. 4

=1 1T
oo i g e
() il =13
(D) Sva % ufd dut

(IIT) ¥=3i1 si=retq = qegfn 4 Sfigq =1 e 354

(IV) simafatare g § fafausarged afss s
1 fageru

Question Number : 119 Question Id : 536228275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I wath List IT

List I List IT
Landmarks in Indian foreign policy Prime Ministers
{a) Shimla Accord (11 Rajv Gandhi
(b) Act East Policy (1) Indira Gandh
(c) India's Peace keeping in Sri Lanka (111) Atal Behari Vajpayee
(d) Lahore Declaration (iv) Narendra Modi

Choose the correct answer from the options given below :

(1 (A, (B)ID. (C)-(IID). (D)-(IV)
2y (A)-AD. (B)-(IV). (C)-(I). (D)-(I1I)
(3)  (A)-AV). (B)-III). (C)-1I), (D)-(I)
(4  (A)-IID. (B)-ID. (C)-(IV). (D)-(I)

Options :

5362281073. 1
5362281074.2
5362281075. 3
5362281076. 4

Question Number : 119 Question Id : 536228275 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HA1 11 g 10 o a1 gafera Fifsw

g 1 g 1T
e e i & die & gen BBIEREE
(A)  foraen v (D wsfia o
(B) Wz Fu2 uiferd] (I 3fem et
(C) =i == | aefta wnfd T (D) #Hze e arsrd
(D) ATE Emon V) 2 6

f fasredl | 4 | 39 g

(1) (A)-(I). (B)-(IT). (C)-(III). (D)-(IV)
(2)  (A-AD. (B)-(IV). (C)-(T), (D)-(ILL)
(3)  (A)-AV). (B)-MI), (C)-(II). (D)-(I)
(4)  (A)-IID. (B)-1D). (C)-IV). (D)-(D)

Options :

5362281073. 1
5362281074.2
5362281075. 3
5362281076. 4

Question Number : 120 Question Id : 536228276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

Last I Last II
President Term of Office
(a) Shankar Dayal Sharma 1 2012 - 2017
(b) R. Venkatraman () 2007 -2012
(c) Pratibha Patel (1) 1992 - 1997
(d) Pranab Mukherjee (iv) 1987 - 1992

Choose the correct answer from the options given below :

(1) (A)-(I1I). (B)-(IV). (C)-(D). (D)-(IL)
(2)  (A)-IID. (B)-(IV), (C)-(ID. (D)-(I)
(3) (A)-(IV). (B)-(II). (C)-(I1L). (D)-(I)
(4)  (A-ID. (B)-(). (C)-(IV). (D)-(IIL)

Options :

5362281077. 1
5362281078.2
5362281079. 3
5362281080. 4

Question Number : 120 Question Id : 536228276 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HA1 TRt 4= 11 % @ guferd fifaw)

g1 I g 11
mTeafd FrFTe
(A) T 24T 919 @ 2012 -2017
(B) W, daheamy (II) 2007 - 2012
(C) ufd wifee (IIT) 1992 - 1997
(D) worsl g (IV) 1987 - 1992

{9 Torepei 4 & i 3o g4

(1) (A)-(III), (B)-(IV). (C)-(D). (D)-(II)
(2)  (A)-dID. B)-IV). (O)-(ID),. (D)-(D)
(3)  (A)-AV). (B)-(ID). (C)-(ILL), (D)-(I)
(4 (A-aD. (B)-(D. (O)-(IV), (D)-(IID)

Options :

5362281077. 1
5362281078. 2
5362281079. 3
5362281080. 4

Question Number : 121 Question Id : 536228277 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

ListI List IT
Environmental Movement State
(a) Narmada Bachao Andolan (11  Odisha
(b) Chipko movement (11) Karnataka
(¢) Appiko movement {m) Uttarakhand
(d) Chilka movement (iv) Madhva Pradesh

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(ID). (C)-(III). (D)-(IV)
(2) (A)-(IV). (B)-(I1I). (C)-(aI). (D)-(I)
(3)  (A)-ID. (B)-ID. (C)-(D. (D)-AV)
(4 (A-IV). (B)-(II). (C)-@), (D)-(II)

Options :

5362281081. 1
5362281082. 2
5362281083. 3
5362281084. 4

Question Number : 121 Question Id : 536228277 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



H1 I o1 w= 11§ gufora fifea)

g1 1 g1 11

Tfa] TS ER
(A) e FES AR Iy stz
(B) o9t stvEie™ (I[) AT
(C) HAMF AT (II1) IrEs
(D) faer= sTEeA (IV) Hexgem)

{3 ferspei | 4 e 37 9 -

(1) (A-D. (B)-(ID, (C)-IID). (D)-(IV)
(2)  (A)-AV). (B)-(IID). (C)-(ID). (D)-(I)
(3)  (A)-ID). (B)-(ID). (C)-(D). (D)-(IV)
(4 (A)-OV). (B)-(ID. (O)-(D. (D)-(II)

Options :

5362281081. 1
5362281082. 2
5362281083. 3
5362281084. 4

Question Number : 122 Question Id : 536228278 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Tist T with List 1T

List I List IT
Centres of Adi Dravid Movements Leaders
{a) Madras (1)  Vithoba Raoji
(b) Hyderabad (1) Murugesh Pillax
(¢) Mysore (11) B.R. Verma
(d) Nagpur {iv) M. S. Raja

Choose the correct answer from the options given below :

(1) (A)-@). (B)-(II). (C)-(IID). (D)-aV )
(2) (A)-(ID). (B)-(ILD). (C)-(D. (D)-(IV)
(3) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(4)  (A)-IID. (B)-ID). (C)-(I). (D)-aV )

Options :

5362281085. 1
5362281086. 2
5362281087. 3
5362281088. 4

Question Number : 122 Question Id : 536228278 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



w1 T o |0 116 | ford it |

g1 1 HA 1T

w1t gfre EEm + %3 A
(A) wWIH O IREEEIRIEE]
(B) =R (I geire fugs
(©) T I I
(D) AR (IV) UH.UH, I

oy foendi 1 3 el e o

(1) (A)-(I). (B)-(IT). (C)-(IID). (D)-(IV')
2y (A)-aD). (B)-ID). (C)-(D). (D)-IV)
(3) (A)-AV). (B)-(I1D), (C)-(1I). (D)-(I)
(4 (A)-dID. (B)-ID). (C)-(I). (D)-(IV')

Options :

5362281085. 1

5362281086. 2

5362281087. 3
5362281088. 4

Question Number : 123 Question Id : 536228279 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

List I List IT
Books Authors
(a) Policy Science (11  Robert Dahl

(b) Principles of Public Administration (1) Herbert Simon

(c) Adminmistrative Behaviour : A Study (m) D. Lerner and Herald Larswele

of Decision Making Processes in
Administrative Organisations

{d) The Science of Publhic Admimistration : (v) W.F. Willoughby
Three Problems

Choose the correct answer from the options given below :

(1) (ARD. B)-(I1D. (C)~III). (D)-(IV)
(2) (A)-(IID). (B)-(IV). (C)-(I). (D)-(D)
(3) (A)-(II). (B)-(I). (C)-(IV). (D)-(I1I)
(4) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)

Options :

5362281089. 1

5362281090. 2

5362281091. 3
5362281092. 4

Question Number : 123 Question Id : 536228279 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1 Tt A= 11 = |12 Heford it

g1 1 g1 11
(g ()
(A) wiferdi wigy (D  TE g8
(B) fifaren s ufeces veffresm (ID) =eid HrEa
(¢) vefafgfea faefaar v wdl s fefgsm (D) & @ U2 200 amE
ik o 7 vehiia smhEse

(D) & #rsd % dfects vsffesm ; i gees (IV) 25 U, facimml

e fau fasea 0 4w 3 g

(L (A-D. B)-ID). (C)-(III). (D)-(IV)
2y (A)-aID). (B)-(V), (C)-(ID), (D)-(I)
(3)  (A-ID. B)-D). (C)-(IV), (D)-(III)
(4) (A)-(IV). (B)-(IID). (C)-(I). (D)-(ID

Options :

5362281089. 1
5362281090. 2
5362281091. 3
5362281092. 4

Question Number : 124 Question Id : 536228280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following freedoms mentioned in Article 19 of the constitution in the order of

thie appearance

(A) Form Associations or unions

(B) Practise any profession

(C) Move freely throughout the territory of Inida

(D) Assemble peaceably and without arms

Choose the correct answer from the options given below :

(1) (C). (B). (A). (D)
(2) (D). (A). (C). (B)
(3) (A). (B). (C). (D)

(4) (B). (C), (D). (&)
Options :
5362281093. 1
5362281094. 2
5362281095. 3
5362281096. 4

Question Number : 124 Question Id : 536228280 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



afaam o sg=dn 19 4 g Fefafe st 1w Al
(A) 9 HgE THTH F T3

(B) 3 i a9 HHM

(C)  amd & 9™ U & ofi T qur )

(Dy  sritel ek & T sforam & o 2

1 A o] W e s -

() (©).(B). (A). D)
(2) (D). @A), (C). (B
(3)  (A).([B). (0. D)
(4 (B).(C). D). A

Options :

5362281093. 1
5362281094. 2
5362281095. 3
5362281096. 4

Question Number : 125 Question Id : 536228281 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following Parliamentary Committees in order of their formation :

(A) Estimates Committee
(B) Departmental Standing Committee
(C) Public Accounts Committee

(D) Committee on Public Undertakings

Choose the correct answer from the options given below :

() (A (B).(C). (D)
(2 ([D.(0.B). A
(3) (). (4), D). (B)

(4) (B). (C). (D). (&)



Options :

5362281097. 1
5362281098. 2
5362281099. 3
5362281100. 4

Question Number : 125 Question Id : 536228281 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fereferfia s afufan i 376 i & FaHEm v
(A)  WrEeH Hifd

(B) it i gt

(C) e i wiufa

(D) ok 3= afuf
A fo3 77 farared] 8 A w3 g ;

(1) (A, (B). (C). (D)
2y  (D.(O). B). A)
(3)  (O). ), D). B

(4) (B). (C). (D), (A)

Options :

5362281097. 1
5362281098. 2
5362281099. 3
5362281100. 4

Question Number : 126 Question Id : 536228282 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following foundational elements of Indian foreign policy In order of themr
appearance :

(A) Gujaral doctrine

(B) Panchasheel

(C) Look East policy

(D)  Indo-Sowviet Treaty of Friendship

Choose the correct answer from the options given below :

(1) (A). (B). (C). (D)
(2) (D). (C), (B). (A)
(3) (C). (D). (A). (B)

(4) (B). (D). (A). (C)

Options :

5362281101. 1
5362281102. 2
5362281103.3
5362281104. 4

Question Number : 126 Question Id : 536228282 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
qrefa feem i = SrRga dedl 1 3 e 8 S & FEEER T
(&) e i
(B)  THIiE
(C) o %2 uifcri
(D)  qrd-Hifamd 450 5

Fr faa v T O @ wdl s

(1) (A, (B). (C). (D)
(2) (D. (C). (B). (A)
(3) (). (D). (A). (B)
(4) (B). (D), (A). (O)



Options :

5362281101. 1
5362281102.2
5362281103. 3
5362281104. 4

Question Number : 127 Question Id : 536228283 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Arrange the works of Karl Marx in ascending order :
(A) The capital (Das Capital)
(B) The Communist Manifesto
(C) The Critigue of the Gotha Programme

(D) The Economic and Philosophical Manusecripts

Choose the correct answer from the options given below :

(1) (A. (B). (C). (D)
(2) (C). (A). (B), (D)
(3) (B). (A), (C). (D)

(4) (D). (B). (C). (A)
Options :
5362281105. 1
5362281106. 2
5362281107.3
5362281108. 4

Question Number : 127 Question Id : 536228283 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



#iel AT il ferd =1 ST 0 O ehme

(A) 2 (M Fhed)
(B) @ FE B
(C) & Terdish 331 & M yim

(D) & SFFANEF v el ihFe dqferes
A1 o famred] 1 3 e 39t g

(1) (A (B (O). (D)
(2) (0. (). (B). (D)
(3) (B A). (C). (D)

(4) (D). (B). (C). (&)

Options :

5362281105. 1
5362281106. 2
5362281107. 3
5362281108. 4

Question Number : 128 Question Id : 536228284 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Tist T with List IT :

ListI List IT
Books Authors
{A) Pohitics and Markets () Robert Dahl
{(B) The Power Elite (I) C. Wright Mlls
(C) A Preface to Democratic Theory (III} Mancure Olson

(D) The Logic of Collective Action : Public (IV) Charles Lindblom
Goods and the Theory of Groups

Choose the correct answer from the options given helow :

(1) (A)-ID, (B)-(D). (C)-(IV), (D)-(ID)
(2 (A)-aV). B)-ID), (C)-(ID. (D)-T)
(3)  (A)-), (B)-(II). (C)-(IID. (D)-(IV)
(4) (A)-(IV). (B)-(II). (C)-(D), (D)-(I1I)

Options :

5362281109. 1
5362281110. 2
5362281111. 3
5362281112. 4

Question Number : 128 Question Id : 536228284 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Hefl 13 9= I =1 gufera i)

g1 1 g1 11
qEF R LEED
(A) iffess vz anfres M T 2
(B) 7 wrar e (ID) i w32 fuen
(C) uHdiFd 7 Shifsfa el (IID) BT A5

(D) & eiferh AT Follded UagH : TecTh g Uz (IV) =TeH foTgsety
forarfl 537 1

A o ord forereal O 4wl 3 g

(1) (A)-(IID). (B)-(D). (C)-(IV). (D)-(ID)
(2) (A)-(IV). (B)-(I1I). (C)-aD), (D)-(I)
(3) (A)-@. (B)-(II). (C)-(I1L), (D)-(IV)
(4) (A)-(IV), (B)-(II). (C)-(I), (D)-(I1I)

Options :

5362281109. 1
5362281110. 2
5362281111. 3
5362281112. 4

Question Number : 129 Question Id : 536228285 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :
Who called 1857 revolt as the First War of Independence?

(1) V. D. Savarkar (2) Ram Manchar Lohia
(3) Swami Vivekananda (4) Deendayal Upadhyvava
Options :

5362281113. 1
5362281114. 2
5362281115.3
5362281116. 4

Question Number : 129 Question Id : 536228285 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fae 1857 = fasim 1 s 1 994 45 #a17

(1)
(3)

Options :

1.2, A (2) T\ wIE St
] e (4) e ITery

5362281113. 1
5362281114. 2
5362281115.3
5362281116. 4

Question Number : 130 Question Id : 536228286 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  Swadeshi. Boycott, National Education and Passive Resistane were the
means of protest used by Bal Gangadhar Tilak.

Reasons (R) : Bovcott was accepted to be an effective weapon by Tilak.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1
(2)
(3)
(4)

Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 1= correct but (R) 1s not correct

{A) 1s not correct but (R) 1s correct

5362281117. 1
5362281118. 2
5362281119.3
5362281120. 4

Question Number : 130 Question Id : 536228286 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A1 Zrarem Tow o 3| e =6 sfisrem (A) i 26 #i aeh (R) %71 790 2

sfiysad (A) ; e, sfesrm, T v s ffsra whomis fmm o a @l o foaem et e faers
+ s ek o
& (R) : ferere sifemsie o1 sk wured efemn o & 4 i wed °)

3P Ul & el § Ferfea T 8 | waiias sy 3w g
(1) (A 3R (R) 2H1 981 2 300 (A) 1 98 =497 (R) 2

(2)  (A) 30 (R) G415 2 W (A) F |18 sgrEm (R) 99 2

(3)  (A)EH R, T (R) 9 FE 2

(4) () HA A 2, A (R) 8/ 2)

Options :

5362281117. 1
5362281118. 2
5362281119. 3
5362281120. 4

Question Number : 131 Question Id : 536228287 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one 1= labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  The idea of ‘governance’ gained in prominence by connoting a plurality of

rules in place of the states” monopoly.

Reaszons (R) : The 1dea of governance owes 1ts origin to the World Bank.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s flase but (R) 1s true

Options :

5362281121. 1
5362281122.2
5362281123.3
5362281124. 4



Question Number : 131 Question Id : 536228287 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a1 oo Tl F ) ek o sifigeRe (A) R g A (R) FE TR

FTgheE (A) | AlsTR %1 forem o= vafasR i dare ek ol £ agea F 1 g #7d 5
sl & 3T B
aF (R) : AR ) Heaer fava o § Haw 2

Sk o o STeish 0 Fifnd feshed] § 8 waiiae 3y 3w o
(1) (A) 371 (R) 3HI He 2 371 (A) = ¥ == (R) 21
(2) (A R (R) FHTEH & e (A) F 87 =rEn R) = 20
(3)  (A)HA 7, W (R) 98 781 21
(4) (A Hd A2, v (R) 9 2
Options :
5362281121. 1
5362281122. 2

5362281123.3
5362281124. 4

Question Number : 132 Question Id : 536228288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Globalisation has helped in deepening of democracy in India.

Statement II : Globalization has deeply 1impacted the Indian society.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement IT are falze
(3) Statement I is correct but Statement II is false

(4) Statement I 1s incorrect but Statement II 1s true
Options :
5362281125. 1
5362281126. 2

5362281127.3
5362281128. 4

Question Number : 132 Question Id : 536228288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
4 Freua fea @ 2y
F94 () : e 3 ard H ellhdd = 452 %7 4 Ja9d1 61 2

oA (ID) :  quEelisTo 4 Yrdia 5o 9 T8 99— 26 2
T s o el U i fasedi 0 § waifoe sogms s 94
(1) [ (D) 3 @D 2 8 2
(2) A (D) 3 (1D 29 |58 T 8
(3)  Fg (D) w2, g %o (D) w137 2
(4)  Fgd (D) #E1 A8 2, Thd F94 (D) 941 2
Options :
5362281125. 1

5362281126. 2
5362281127.3



5362281128. 4

Question Number : 133 Question Id : 536228289 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Chaudhary Charan Singh was the only Prime Minister in India who did

not face the Parliament.

Statement IT ; Passage of a no — confidence motion in Lok Sabha leads to the ouster of a

government from office.

In the hight of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)

(4)

Options :

Both Statement I and Statement I are true
Both Statement I and Statement IT are falz=e
Statement I 1s correct but Statement II 1s false

Statement I is incorrect but Statement IT is true

5362281129. 1
5362281130. 2
5362281131.3
5362281132. 4

Question Number : 133 Question Id : 536228289 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o

4 2 A T 2

Fod (D) ;= SoNTHE 9 o TEe U vamREE 9 Taea aee o e FE R

#99 (ID) :  ofrek A1 | s1favary ad uifrd 219 W g 1 9 3 9 8491 929 2|
I e & SellE U el el 0 | waifaes s s g
(1) =4 (D) 3fi7 (1D 21 98 &
(2) A (D) 1 (1D = w8 41 8
(3)  uA (D) |dl 2, fohd om0 w38 2
(4) %A (D) 9 74 2, fhq Foa (1D | 2
Options :
5362281129. 1
5362281130. 2

5362281131.3
5362281132. 4

Question Number : 134 Question Id : 536228290 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : India has deliberately been christened as a ‘Union of states’ instead of a

‘federation of states’ by the Constitution.

Statement II : The word TUnion' does Indicate a particular type of federation that

Constitution makers envisaged for India.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true

(2 Both Statement I and Statement II are falze

(3) Statement I 1s correct but Statement II 1s false
(4 Statement I is incorrect but Statement IT 1s true

Options :
5362281133. 1



5362281134.2
5362281135.3
5362281136. 4

Question Number : 134 Question Id : 536228290 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 21 fed e 2

F94 (I) - Hfa9H 5, 994 %1 IH-TEE TR 6% 2 (TR #9) F 9w g s v
(Zefta o= ) e T 2

Fod (I) - | Ffa s #1 afe § e vies va faem Ten & F2iem &1 978 g9 2|

I T o sl O it fasedi 0 & o 3 =

(1) A (T) 31 (ID) 241 9 2

(2)  FeA (D) 377 (1D 5 Ter #

(3)  #¥A (D) HeA 2, fohd #9A (1T) Tefd 2

4)  #¥A (D) w187 2, g wem D @ 2

Options :

5362281133. 1
5362281134.2
5362281135. 3
5362281136. 4

Question Number : 135 Question Id : 536228291 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



Given below are two statements :

Statement I : A country's foreign policy 1s the product of 1ts history.
Statement II ; Core values of Indian national movement constituted the building blocks of

Indian foreign policy.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement IT is correct
Options :

5362281137. 1
5362281138. 2
5362281139.3
5362281140. 4

Question Number : 135 Question Id : 536228291 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e S e T &)
FaA (I) : ol 2w o Farew Hifa 399 gfaer =1 form 2idi2)

wed (ID) :  wredra fHes Hifa mim stEem = w5 gedi 4 fafda 2)

Ik e % et 1 Feifea faskedi 4 8 ad 3w g
(1)  &ua (D) 3 1D 591 941 &

(2)  weE (D) 3 (1D &H T §

(3) w9 (T) @ 2, T A (I0) 7Terd 2

(4) A (D) el 2, T e (1) & 2

Options :



5362281137. 1
5362281138. 2
5362281139.3
5362281140. 4

Question Number : 136 Question Id : 536228292 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ : M.N. Roy considered the economic interpretation of history propounded by

Marx as misconcelved and imperfect.

Statement 1T ; M.N. Roy argued that the real form of social and economic process 1s not

determined merely by types of material resources.

In the hight of the above statements. choose the correct answer from the options given below :

(1)

Options :

Both Statement I and Statement II are true
Both Statement I and Statement II are falze
Statement I is correct but Statement II is false

Statement I is incorrect but Statement IT is true

5362281141. 1
5362281142.2
5362281143.3
5362281144. 4

Question Number : 136 Question Id : 536228292 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1 41 e feu e &)

w4 (D) - wre gt sfasmm ) sifee saren =0 g oa. 19 e 3 sl g 9)

"

Fu4 (1) : AU, T4 &1 a5 91 T Amiters 30 snider uiEn & aratas g o i o it gaeE

F UHN H 92 2@ 2

IR e o STl d i Tl O | wd g

(1)  =eA (T) 38 (D) 21 |2 2
(2) A (D s 1D 2w T 8
(3) =94 (D uel 2, T e (@D w34 2

(4)  wUF (D) EE 7 2, g #gq QD 5 2

Options :

5362281141. 1
5362281142.2
5362281143.3
5362281144. 4

Question Number : 137 Question Id : 536228293 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I : Oligarchy is a government dominated by the few.

Statement II : Robert Mckenzie formulated the iron law of ohigarchy.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362281145. 1
5362281146. 2



5362281147.3
5362281148. 4

Question Number : 137 Question Id : 536228293 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
4 @ ya fea ma &)
F94 ():  #o9dd 98 FahE 2 T & o P &1 9y 2id 2|
Fod (D) ard defifl 4 steues o ofie frara =1 aferean 61 o)
ST FH| o AT 4 =ifFa fasedi 4 | w6 3w i
(1) 9 (I) 31 @D 241 51 3
(2) =y (1) w9 (1) 2F1 981 1 2
(3)  #Fu (D Hl 2, g FA (ID) |14 2

(4)  wuA (D A AE 2, g o9 AD w81 2

Options :

5362281145. 1
5362281146. 2
5362281147.3
5362281148. 4

Question Number : 138 Question Id : 536228294 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Social democracy combines elements of liberalism and socialism to
reconcile freedom and equality.

Statement II : Social democratic regimes use the system of neo corporatism wherein

policy — making involves the state, labour and the businesses.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement II 1s incorrect
(4) Statement I 1= incorrect but Statement II 1s correct
Options :

5362281149. 1
5362281150. 2
5362281151.3
5362281152. 4

Question Number : 138 Question Id : 536228294 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A g1y fag g 8

F4q (I):  FEAAd AR GAET F| UHS2 FAH 2 AT AT 3ERATE S HHSETE + dedl 6 g9

FAA1 2

F99 (A1) : T SRt e T8 Frmare 1 gorefi s v s # e s -Fafon 8 o=, 9

S BTIR Afcaferd 21 2|
Fueeh e % Hey 4 i feu fewed 4 3 9e e

(1) %= (D)9 % (D) 5H 858 2
(2)  FEE (D) FLA (1) H1 7o
(3) %94 (D) &1 2, i %o () 7Tefd 2

(4) U (D) TeTd 2, WA FA 1D B 2

Options :

5362281149. 1
5362281150. 2
5362281151.3
5362281152. 4

Question Number : 139 Question Id : 536228295 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : Every constitution has a philosophy of 1ts own.
Statement II : For the philosophy underlying Indian Constitution. we must look back into

the historic Objective Resolution moved by Pandit Nehru.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s correct but Statement IT 1= false

(4) Statement I 1s incorrect but Statement II 1s true

Options :



5362281153. 1
5362281154. 2
5362281155.3
5362281156. 4

Question Number : 139 Question Id : 536228295 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A 2w feama )
#dd () :  Wedsh Af4T F1 391 9914 201 2|
F94 (ID) : 9w aiaa 4 Ffzd 2904 %1 gz & oo 2g dfzd 9% & Uldarfas v g9ed 9 s
iz = 2|
T A1 o ST H e e 0 1w 3w oA
(1)  =eA (I) 3807 (ID) 141 &4 2
(2)  #eE () 3 (1D 2 |1 7 2
(3)  =ud (I) Hed 2, T *94 (ID) 7etd 2
(4)  FUA (D #EaA 2, g F28 I 561 2
Options :
5362281153. 1
5362281154. 2

5362281155.3
5362281156. 4

Question Number : 140 Question Id : 536228296 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Chester Bernard defined orgamization as a system of consclously
coordinated activities of two or more persons.

Statement IT : Chester Bernard supported the viewpoint tht man 1s mainly motivated by

economic incentives.

In the light of the above statements, chooze the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I is correct but Statement IT 1s incorrect
(4) Statement I 1s incorrect but Statement II 1= correct
Options :

5362281157. 1
5362281158. 2
5362281159.3
5362281160. 4

Question Number : 140 Question Id : 536228296 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :



+4 Swua fea o 3
FUG (D) :  H2L a1l 4 w3 # 2 g wiaw st f gad aafE=a e o wnedl & w9 d
afrariee T 2)

F4 (I0) : == a41E 1 39 gfeanio =1 sme o o o e sirfele diearedl g fva =i 21
I ] % el § e fasedl § 3 waifas 3wy 3

(1) = (1) 38 (1) 361 8 3

(2) ¥ (D) 3 (1D 24 98 99 2

(3)  #yA (D) |l 2, g m (D) w98 2

(4)  wuA (I) WA 2, fhd Fom (D) |2 2

Options :

5362281157. 1
5362281158. 2
5362281159.3
5362281160. 4

Sub-Section Number : 2
Sub-Section Id : 53622811
Question Shuffling Allowed : Yes

Question Id : 536228297 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage and answer the questions (91-95) :

From this perspective of democracy. representation can help or hurt democracy, even if
representation cannot be democratic since 1t cannot replicate the demos. But the
phenomenon of representation reflects an emotional roller — coaster — great hopes during an
election campaign: great disappointment from the work of governments in office. This
problem stems In part from the fact that representative government and the demos
potentially operate at cross — purposes. The office of a representative results from elections,
which elevate a set of political rulers above the ruled in order to make the laws. In office,
they make compromises to get legislative business done. Representatives may feel proud of
what they accomplished, because they made the decisions that led to the compromise. But
citizens can't take pride 1n legislative work. and they mostly suffer the consequences
required by the compromise. That doesn't mean representatives always will be scorned; as
mentioned above, their office enables them to undertake political 1mitiatives not wviable
during an election campaign or to protect minorities whose needs may have been neglected.
That said. the necessary activity of legislative compromise takes place above the heads and
behind the backs of the people. As such, it contradicts the ‘Athenian and Aristotehan
understanding of democracies as political orders that depend on the deliberative and decisive
power of citizens (1.e., the demos) acting with authoritative power. Citizens of the Atheman
democracy were said to rule and be ruled 1in turn. but in every case their power required the
political presence and deliberative action of citizens.

Sub questions

Question Number : 141 Question Id : 536228298 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following is reflected 1n the phenomenon of representation?

(1) Great hopes during an election campaign

(2) Great appreciation for the work of government 1n office

(3) Great promises from the representative democracy

(4) Great challenges from liberalization, privatisation and globalisation
Options :

5362281161. 1
5362281162. 2
5362281163.3
5362281164. 4

Question Number : 142 Question Id : 536228299 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1s the obvious outcome of an election?
(1) Career of a leader

(2) Ministerial birth of a politician

(3) Office of a representative

(4) Future prospects of a budding activist

Options :

5362281165. 1
5362281166. 2
5362281167.3
5362281168. 4

Question Number : 143 Question Id : 536228300 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Athenian and Aristotelian understanding of democracies means

(1) Political orders depending on the deliberative powers of citizens
(2) Political system rooted in grassroot politics
(3) Syatem of government prevalent in Greek city states
(4) Western conceptualization of democracy
Options :

5362281169. 1
5362281170. 2
5362281171.3
5362281172. 4

Question Number : 144 Question Id : 536228301 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What takes place above the heads and behind the backs of the people?

(1) Executive arrogance (2y  Judiecial activism
(3) Parhamentary sovereignty (4) Legslative compromise
Options :

5362281173. 1
5362281174.2
5362281175.3
5362281176. 4

Question Number : 145 Question Id : 536228302 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Why could have representatives felt proud of what they accomplished?

(1) They made the decisions for their followers
(2) They made the decizions that led to the compromise

(3) They made a level jump 1n their career progression
(4) They made their adversaries compromise with their core values
Options :

5362281177. 1
5362281178. 2
5362281179.3
5362281180. 4

Question Id : 536228297 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

elehea o 39 uitiay U ufdafiieg eisds &) d@ada @ i &2 g 2 gol 8 afdliea disafes 3 2w
=2 A ) afeEta 38 2w 21 R afafiae # aigys gEaesE Ter wee (290 3R 99E) F) g9 2
forl 9A1a SH19a % S1H o) S ofR SR % HE w agd Hoen s il Sl 2) g7 wee gh a2d |
T Al & o wfafafa, svem si s gema: ofa fade & snaw @ #e #d 81 vk gfaff o 0 g
STH &1 2 S 1 9H o ToTe I o3 Trsife 3T % U HHE #1390 0 &) 9 U8 9 Tad g faurh
T e o Toro wmeiten a2 9faffa sm9 o e s 9 7 9w 2 =it 3=an fofg fo fams aoeia
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Sub questions

Question Number : 141 Question Id : 536228298 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ferferfiaa o @ for ufafafirea = aftgea d etz mn 27
(1) =913 A99H & 29 921 3

(2)  "EEH HER & F 6 aEd SR

(3)  ufafia-eras @ 7] s

(4)  FarvE, i st dvdie | a2 gt

Options :

5362281161. 1
5362281162. 2
5362281163.3
5362281164. 4

Question Number : 142 Question Id : 536228299 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FATE o o7 oy w1 27
(1) 1 =1 Hiew
(2) e e us
(3)  ufaffEa = oz

(4) U 39T Al & for arE HareEmd

Options :

5362281165. 1
5362281166. 2
5362281167.3
5362281168. 4

Question Number : 143 Question Id : 536228300 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
afieReral 2l YA S sTEgard] sraaEon % @ 2
(1) Awricski ) famrmo sifeRa @ e s i Hdvm
(2) e wone! 1 ST s § it 2
(3)  gAF S AR 59 4 g @1 e wmad gone

(4) AR 1 I FI TR

Options :



5362281169. 1
5362281170. 2
5362281171.3
5362281172. 4

Question Number : 144 Question Id : 536228301 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ST O Teqed A1 ST e B9 8 ] UqE T2 8 7

(1) FrFH] 29 (2) =TT Tl
(3)  HUES AT (4) fasmed gz
Options :

5362281173. 1
5362281174.2
5362281175.3
5362281176. 4

Question Number : 145 Question Id : 536228302 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
afafiimi 3 s suefera) o =i d sua e v
(1)  F&H A I = fem foig feo
@ FE w Fofy fere form wueta gan

(3) 3w 3 FiE O g wifd
(4) 3 A faf #1 s e gedl | wesia FE
Options :
5362281177. 1
5362281178. 2
5362281179. 3
5362281180. 4

Sub-Section Number : 3
Sub-Section Id : 53622812
Question Shuffling Allowed : Yes

Question Id : 536228303 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



Read the passage and answer the questions (96-100) :

Ronald Dworkin’s thesis 1s that some of the rights people have are fundamental. but many
are not. They are fundamental because they are ‘the rights against the state’.Dworkin says
that the notion of rights as trumps "marks the distinctive conept of an individual right
against the state which is the heart... of constitutional theory in the United States.” In the
special supplement., Dworkin argued that the concept of right against the government
becomes most useful particularly when the society 12 divided on racial lines into majority and
minority. The right to freedom of speech and religious freedom belong to this category.
Therefore, they are strong rights. He asserts that these rights should be permitted and they
zshould not be interfered or banned. These freedoms are to be allowed even if the welfare of
the collectivity 1s infringed.

On the contrary. he also presupposes a large area of rights where the state can make
legislations curtailing those rights to achieve common welfare. They can be called weak
rights. Right to liberty for example becomes a weak right against right to equality. a strong
right. This at the outset may look contradictory, but it is not. For example, restraiming the
movement on the roads for safety and smooth traffic movement does not mean restraining
the rights, on the other hand. putting a restriction on publication or restraining the freedom
of apeech will infringe the rghts even if 1t enhances general welfare. Thus. even though in
both cases rights are involved. curtailment of one 1s justified, whereas the other 1s not.

Sub questions

Question Number : 146 Question Id : 536228304 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The rghts claimed against the state are considered as

(1) Fundamental rights (2) Human rnghts
(3) Natural mghts (4) Legal rghts
Options :

5362281181. 1
5362281182.2
5362281183.3
5362281184. 4

Question Number : 147 Question Id : 536228305 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The 1dea of right against the government becomes very useful when the society 1s divided

into majority and minority on the basis of

(1) Caste (2) Class
(3) Race (4) Relgion

Options :



5362281185. 1
5362281186. 2
5362281187.3
5362281188. 4

Question Number : 148 Question Id : 536228306 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The strong rights need to be

(1) inferred (2) permitted
(3) borrowed (4) ordained
Options :

5362281189. 1
5362281190. 2
5362281191.3
5362281192. 4

Question Number : 149 Question Id : 536228307 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks :

Which of the following 1s a weak right?

(1) Right to property

(2) Right to equality

(3) Right to liberty

(4) Right to religious freedom

Options :

5362281193. 1
5362281194. 2
5362281195. 3
5362281196. 4

Question Number : 150 Question Id : 536228308 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The rights that can be curtailed to achieve common welfare may be called as :

(1) Strong rights

(2) Fundamental rights
(3) Human rights

(4) Weak rghts

Options :
5362281197. 1



5362281198. 2
5362281199. 3
5362281200. 4

Question Id : 536228303 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)

Question Label : Comprehension
Tiaee gaida %1 faam 97 2 5 =01 & 3 afasr @ difas @ @ o s sfasr difes 38 20 3
uers & @it 4, s = fasg st ) gafda @1 e 2 1 90 % e o w0 4 sl & saemon,
11+ o e =t & sfawn £ fafie dwer = fafza w2 S g o 1 st e w sz e
farery ufefime O garfa 3 g am = asem =i g = ey st f deega 3a foufa 0 i o a0
1 Sl 2 S HuTs o o] $ME S s serses U faare e 2) sifaeafs £ waa
stfererT st e e T a0 stfes e il O s1rd 4 39 d Hee sifuen 21 3 o @ T zm sl
sgafa #1 =fan sif 390 meaam 98 # afze R [ # g afdafom s iz 35 s i sagafd
a1 = gt & 34 argfesrdn & weam 1 3gEE S A |

34 faufi, 9 el & 0% 52 &3 &1 qdFel Fd © SR T HIHE el § s F1 9 FH 2 3
ATl 1 Jifga #6 # (o0 [GuEa o= g6 2| 37 379 SATFE e Jad 2| 3210 & fore, Jumd =
AfTFR, S U Howh ATE § F goE d Al 1 ATER UF A HHET 54 S 21 98 99H 70
qreqt faiief] e wehan 2 cifera G 2 48 3grem # o wen vd Fate 2ies var & fon gl o o 6
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Sub questions

Question Number : 146 Question Id : 536228304 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=y & faeg fam sl = 2@ o snan @ 328 g s 2

(1)  Hifcre sifasn CARRIEE e
(3) WK sHlEn (@) At srfasn
Options :

5362281181. 1
5362281182.2
5362281183.3
5362281184. 4

Question Number : 147 Question Id : 536228305 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



| & foeg silaR a9 Tga S0Pl 21 S 2 STe S0 o SEEETE SR HCTEHETE o SR W aie S 2

(1) ST = SR W (2) = % HUR W
(3) A% o HEH R @) o % SuR
Options :

5362281185. 1
5362281186. 2
5362281187.3
5362281188. 4

Question Number : 148 Question Id : 536228306 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T AlTHn & T siavds 2

(1) 3ruid g (2)  srgufd STH FE
(3) U EE] (4) fTafea fea s
Options :

5362281189. 1
5362281190. 2
5362281191.3
5362281192. 4

Question Number : 149 Question Id : 536228307 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fon o @ - w19k sifiem 27
(1)  Hufd = sifran
(2)  HEEA 1
(3) ATl F SAF
(4) a1 A &1 3EEn

Options :

5362281193. 1
5362281194.2
5362281195.3
5362281196. 4

Question Number : 150 Question Id : 536228308 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT Fed W] & A0 ) UTH #1042 (o sl i1 fifaa o s wwa 2 3% Fa awa a7

(1)  Hurh AfTFR
(2)  Hifers sifuwn
(3)  HHAMaFER
(4) I SR

Options :

5362281197. 1
5362281198. 2
5362281199. 3
5362281200. 4



